Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

GM/Co/DFCCIL/PRYJ-WEST acting for and on behalf of The President of India invites E-Tenders against Tender No **PRYJ_EN_TMD_MREN_2025** Closing Date/Time 19/06/2025 15:00 Hrs. Bidders will be able to submit their original/revised bids upto closing date and time only. Manual offers are not allowed against this tender, and any such manual offer received shall be ignored.

1. NIT HEADER

Name of Work	Construction of Track Machine Depot at New Manauri Yard Under the Jurisdiction of CGM PRYJ						
Bidding type	Normal Tender						
Tender Type	Open	Bidding System	Two Packet System				
Tender Closing Date Time	19/06/2025 15:00	Date Time Of Uploading Tender	24/05/2025 16:12				
Pre-Bid Conference Required	No	Pre-Bid Conference Date Time	Not Applicable				
Advertised Value	120418624.73	Tendering Section	CIVIL WORK				
Bidding Style	Single Rate for Each Schedule	Bidding Unit					
Earnest Money (Rs.)	752100.00	Validity of Offer (Days)	90				
Tender Doc. Cost (Rs.)	0.00	Period of Completion	6 Months				
Contract Type	Works - General	Contract Category	Expenditure				
Bidding Start Date	05/06/2025		•				
Are JV allowed to bid	Yes	Number of JV Member Allowed	3				
Are Consortium allowed to bid	No	Number of Consortium Member Allowed	0				
Ranking Order For Bids	Lowest to Highest	Expenditure Type	Capital (Works)				

2. SCHEDULE

S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit				
Sched	ule () A-S	ichedule-A As	per DSR-20	21			75041164.49	Above/ Below/Par				
	1	500.85	Sqm	29.66	14855.21	AT Par	14855.21					
1					ound including r sh, lead up to 50			n equalities				
	2	500.00	Sqm	112.73	56365.00	AT Par	56365.00					
2	m in wid	th as well as	10 sqm on I	plan including	vation not exceed getting out and o Charge 2.1.1 All k	disposal of	f excavated eartl					
	3	1000.00	cum	908.92	908920.00	AT Par	908920.00					
3	with 100 power re	r2 tonne rolle oller of minim	er or woode num 8 tonne ks or filling u	n or steel rames and dressing up ground depi	in depth, break imers, and rollin g up in embankn ressions, lead up	g every 3 nents for r to 50 m a	ord and top-mos roads, flood bank nd for all lift : 2.2	t layer with ks, marginal				
			cum	302.22			151110.00	` .				
4	means i dressing disposal	n foundation of sides and of surplus ex	trenches or I ramming o	drains (not ex of bottoms, for as directed, w	by mechanical maceding 1.5 m in all lift, including this in a lead of 50 mechanical maced in a lead	n width or g getting) m. 2.8.1	10 sqm on plar out the excavat All kinds of soil	n), including ed soil and				
	5	100.00	cum	2276.98		AT Par	227698.00					
5		Description:- 2.27 Supplying and filling in plinth with sand under floors, including watering, ramming, consolidating and dressing complete.										
		<u> </u>										
	6	1000.00	cum	388.40	388400.00	AT Par	388400.00	g, · ag,				

Page 1 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	7	150.00	cum	8612.68	1291902.00	AT Par	1291902.00	
				g and laying i	n position ready		or site batched	
	cement	concrete for	plain cemen	t concrete wor	k; using coarse a	aggregate	and fine aggreg	gate derive
,					inary Portland o			
,					accelerate or re ength; including			
					ne cost of cente			
					wing grades of o			
					num cement cont			
	8	1000.00	cum	8425.73	8425730.00	AT Par	8425730.00	
	Descri	otion:- 5.33.1	.1 Providing	g and laying i	n position ready	y mixed o	or site batched	design m
					te work; using o			
					lana or Ordinar			
3					IS: 9103 to acceiring strength; in			
					iding the cost o			
	reinforc	ement as per	direction of	the engineer-i	n-charge, for the	following	grades of concr	ete.: 5.33
		s upto plinth	level 5.33.1	1 Concrete of	f M25 grade with	n minimur	m cemen conter	nt of 330
	orcum							
	9	150.00	cum	9209.16	1381374.00	AT Par	1381374.00	
					n position ready			
					te work; using o lana or Ordinar			
9					IS: 9103 to acce			
9	improve	durability an	d workability	/ without impa	iring strength; in	cluding pu	umping of concre	ete to site
					iding the cost o			
					n-charge, for the f M35 grade with			
	orcum	s upto pilitii	level 3.33.1	Concrete of	M33 grade with	ı ııııııııııı	ii cemen conter	11 01 370
	10	150.00	cum	10620.16	1593024.00	AT Par	1593024.00	
							or site batched	desian m
	cement derived	concrete for from natura	reinforced of	cement concre Portland Pozz	te work; using o olana or Ordina	coarse agary Portla	gregate and fine nd orPortland	e aggrega Slagcemer
10	cement derived admixtu	concrete for from natura	reinforced of Il sources, nended prop	cement concre Portland Pozz portions as per	te work; using o olana or Ordina IS: 9103 to acce	coarse age ary Portla elerate or	gregate and fine nd orPortland S retard setting of	e aggrega Slagcemer concrete,
10	cement derived admixtu improve	concrete for from natura res in recomr durability an	reinforced of all sources, mended prop d workability	cement concre Portland Pozz portions as per without impa	te work; using of olana or Ordina IS: 9103 to acce iring strength; in	coarse age ary Portla elerate or cluding pu	gregate and fine nd orPortland S retard setting of umping of concre	e aggrega Slagcemer concrete, ete to site
10	cement derived admixtu improve laying,	concrete for from natura ires in recomre durability an curing, carria	reinforced of all sources, mended prop d workability ge for all le	cement concre Portland Pozz portions as per without impa ads; but exclu	te work; using of column or Ordina IS: 9103 to accepting strength; in the cost of the cost	coarse ago ary Portla elerate or cluding pu f centerin	gregate and fine nd orPortland S retard setting of umping of concre og, shuttering, fi	e aggrega Slagcemer concrete, ete to site nishing ar
10	cement derived admixtu improve laying, reinforc All work	concrete for from natural res in recomme durability an curing, carrial ement as per as above plint	reinforced of sources, mended proped workability ge for all le direction of hevel upto	cement concre Portland Pozz portions as per without impa ads; but excluthe engineer-i	te work; using of olana or Ordina IS: 9103 to acce iring strength; in	coarse ago ary Portla elerate or cluding pu f centerin following	gregate and fine nd orPortland s retard setting of umping of concre og, shuttering, fi grades of concre	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33
10	cement derived admixtu improve laying, reinforc All work content	concrete for from natural res in recomme durability an curing, carrial ement as per sabove plint of 330 kg orc	reinforced of sources, mended prop d workability ge for all le direction of h level upto um	cement concre Portland Pozz portions as per without impa ads; but excluthe engineer-i floor V level 5	te work; using of oldana or Ordina IS: 9103 to accepting strength; in uding the cost on-charge, for the 6.33.2.1 Concrete	coarse ago ary Portla elerate or cluding pu f centerin f following e of M25 o	gregate and fine nd orPortland ! retard setting of umping of concre ig, shuttering, fi grades of concr grade with minir	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33
10	cement derived admixtu improve laying, reinforc All work content	concrete for from natural res in recomme durability and curing, carrial ement as per sabove plint of 330 kg orc	reinforced of sources, mended prop d workability ge for all le direction of h level upto um	cement concre Portland Pozz portions as per without impa ads; but exclu the engineer-i floor V level 5	te work; using of olana or Ordina IS: 9103 to accessiring strength; inuding the cost of the cost of a concrete 9445000.00	coarse ago ary Portla elerate or cluding pu f centerin following e of M25 of AT Par	gregate and fine nd orPortland setting of umping of concreg, shuttering, fi grades of concregrade with minir 9445000.00	e aggrega Slagcemer concrete, ete to site nishing al rete.: 5.33 mum cem
	cement derived admixtu improve laying, reinforc All work content 11 Descrip	concrete for from natural res in recomme durability and curing, carrial ement as per cs above plint of 330 kg ord	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfo	cement concre Portland Pozz Pozz Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using of olana or Ordina IS: 9103 to accessiring strength; inuding the cost of the cost of the cost of the cost of concrete 9445000.00 R.C.C. work including the cost of the cost	coarse ago ary Portla elerate or cluding pu f centerin following e of M25 of AT Par uding stra	gregate and fine nd orPortland setting of umping of concrete, shuttering, fine grades of concrete with mining 9445000.00 ightening, cuttir	e aggrega Slagcemen concrete ete to site nishing a rete.: 5.33 mum cem
	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing	concrete for from natural res in recomme durability and curing, carrial ement as per curing above plint of 330 kg orce 100000.00 otion:- 5.22.6 in position a	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding of	cement concre Portland Pozz Pozz Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using of olana or Ordina IS: 9103 to accessiring strength; inuding the cost of the cost of a concrete 9445000.00	coarse ago ary Portla elerate or cluding pu f centerin following e of M25 of AT Par uding stra	gregate and fine nd orPortland setting of umping of concrete, shuttering, fine grades of concrete with mining 9445000.00 ightening, cuttir	e aggrega Slagcemen concrete, ete to site nishing al rete.: 5.33 mum cemang, bendir
	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 otion: 5.22.6 in position a grade Fe-500I	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding a cormore.	rement concre Portland Pozz Portions as per Without impa Pads; but exclu the engineer-i floor V level 5 94.45 Orcement for lall complete u	te work; using of column or Ordina IS: 9103 to accessiring strength; including the cost of	coarse aggray Portla elerate or cluding pu f centerin following of M25 AT Par uding stra 5.22.6 Th	gregate and fine nd orPortland setting of concrete, shuttering, fine grades of concrete, with mining 9445000.00 ightening, cuttirnermo-Mechanica	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 num cemen ng, bendin
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ption: - 5.22.6 in position a grade Fe-5000 50000.00	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding of or more.	Dement concre Portland Pozz Portions as per Without impa Pads; but exclusion the engineer-ifloor V level 5 94.45 Porcement for lall complete u	te work; using of column or Ordina IS: 9103 to accessiring strength; including the cost of	coarse aggray Portla elerate or cluding pu f centerin following of M25 of AT Par uding stra 5.22.6 Th	gregate and fine nd orPortland setting of concrete, shuttering, fine grades of concrete with mining 9445000.00 ightening, cutting ermo-Mechanica 4722500.00	e aggrega Slagcemen concrete, ete to site nishing al rete.: 5.33 mum cemen ng, bendir ally Treate
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of 12 Descrip	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ption:- 5.22.6 in position a grade Fe-5000 50000.00 ption:- 5 22A	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinford binding a cor more. Kg 6 Steel reinford breinford br	portland Pozz portland Pozz portions as per without impa ads; but exclu- the engineer-i floor V level 5 94.45 orcement for I all complete u	te work; using or oldana or Ordina IS: 9103 to accessiring strength; including the cost of the including the plant level. 4722500.00 R.C.C. work including the plant level.	coarse ago ary Portla elerate or cluding pu f centerin following e of M25 of AT Par uding stra 5.22.6 Th AT Par uding stra	gregate and fine nd orPortland setting of concrete, shuttering, fingrades of concrete with mining 9445000.00 ightening, cutting 4722500.00 sightening, cutting the cutting setting setting the cutting setting set	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ag, bendir ally Treate
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of c 12 Descrip placing	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ption:- 5.22.6 in position a grade Fe-5000 50000.00 ption:- 5 22A	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding a cor more. Kg 6 Steel reinfond binding al	portland Pozz portland Pozz portions as per without impa ads; but exclu- the engineer-i floor V level 5 94.45 orcement for I all complete u	te work; using of column or Ordina IS: 9103 to accessiring strength; including the cost of	coarse ago ary Portla elerate or cluding pu f centerin following e of M25 of AT Par uding stra 5.22.6 Th AT Par uding stra	gregate and fine nd orPortland setting of concrete, shuttering, fingrades of concrete with mining 9445000.00 ightening, cutting 4722500.00 sightening, cutting the cutting setting setting the cutting setting set	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ag, bendir ally Treate
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of c 12 Descrip placing	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ption:- 5.22.6 in position and prosition and position and prosition and prositio	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding a cor more. Kg 6 Steel reinfond binding all cor more.	portland Pozz portland Pozz portions as per without impa ads; but exclu- the engineer-i floor V level 5 94.45 orcement for I all complete u	te work; using or oldana or Ordina IS: 9103 to accessiring strength; including the cost of the including the plant level. 4722500.00 R.C.C. work including the plant level.	coarse ago ary Portla elerate or cluding pu f centerin following e of M25 of AT Par uding stra 5.22.6 Th AT Par uding stra	gregate and fine nd orPortland setting of concrete, shuttering, fingrades of concrete with mining 9445000.00 ightening, cutting 4722500.00 sightening, cutting the cutting setting setting the cutting setting set	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemo ag, bendin ally Treate
11	cement derived admixturimprove laying, reinforce All work content 11 Descrip placing bars of 9 12 Descrip placing bars of 9 13	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 otion:- 5.22.6 in position and grade Fe-5000 otion:- 5 22A in position and grade Fe-5000 50.00	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg 6 Steel reinfond binding all or more. Kg 6 Steel reinfond binding all or more. Metre	rement concre Portland Pozz Pozz Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using of colana or Ordina IS: 9103 to acceliring strength; inding the cost of in-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work inclupto plinth level. 4722500.00 R.C.C. work included a pure plinth level.	coarse aggray Portla elerate or cluding pu f centerin f following of M25 (AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Tl	gregate and fine nd orPortland setting of concrete, shuttering, fine grades of concrete, shuttering, fine grade with mining 9445000.00 ightening, cutting armo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ng, bendin ally Treate
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 12 Descrip placing bars of of 13 Descrip stiff mix	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 ction:- 5 22A in position and grade Fe-5000 ction:- 19.36. Sture of ceme	reinforced of sources, mended proy d workability ge for all le direction of h level upto um Kg 6 Steel reinfond binding all or more. Metre 5 Providing nt mortar in	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of the	ary Portla elerate or cluding pu f centerin f following of M25 (AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Tl AT Par s includin	gregate and fine nd orPortland setting of concrete g, shuttering, fi grades of concrete grade with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ng, bendin ally Treate
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 12 Descrip placing bars of of 13 Descrip stiff mix	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position a grade Fe-5000 cotion:- 5 22A in position and grade Fe-5000 cotion:- 19.36. atture of ceme are complete.	reinforced of sources, mended proy d workability ge for all le direction of h level upto um Kg 6 Steel reinfond binding all or more. Metre 5 Providing nt mortar in	rement concre Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of the	ary Portla elerate or cluding pu f centerin f following of M25 (AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Tl AT Par s includin	gregate and fine nd orPortland setting of concrete g, shuttering, fi grades of concrete grade with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ng, bendin ally Treate
111	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 12 Descrip placing bars of of 13 Descrip stiff mix	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 ction:- 5 22A in position and grade Fe-5000 ction:- 19.36. Sture of ceme	reinforced of sources, mended proy d workability ge for all le direction of h level upto um Kg 6 Steel reinfond binding all or more. Metre 5 Providing nt mortar in	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of the	ary Portla elerate or cluding pu f centerin f following of M25 (AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Tl AT Par s includin	gregate and fine nd orPortland setting of concrete g, shuttering, fi grades of concrete grade with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum ceman ng, bendir ally Treate ng, bendir ally Treate
112	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 13 Descrip stiff mix joints et 14 Descrip	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and prade Fe-5000 cotion:- 19.36 cture of ceme as a complete. Solution:- 5.9.1	reinforced of sources, mended proposed workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing nt mortar in 19.36.5 1200 Sqm Centering ar	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost on-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work included by the properties of the second strength of the properties of the properties 97335.00 Including struttin	ary Portla elerate or cluding pu f centerin following of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Tl AT Par s includinent: 2 fin AT Par g, proppir	gregate and fine nd orPortland setting of concrete, shuttering, fine grades of concrete with mining 9445000.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) includin 97335.00	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ag, bendir ally Treate ng, bendir ally Treate jointed wi g testing
112	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 12 Descrip placing bars of of 13 Descrip stiff mix joints et 14 Descrip for 5.9.1	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ption:- 5.22.6 in position and grade Fe-5000 50.00 ption:- 19.36. Sture of ceme as 300.00 ption:- 5.9.1 Foundations	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding allor or more. Metre 5 Providing nt mortar in 19.36.5 1200 Sqm Centering st	rement concre Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using of colana or Ordina IS: 9103 to acceliring strength; inding the cost of in-charge, for the initial strength in the initial strength initial strength in the ini	ary Portla elerate or cluding pu f centerin f following of M25 (AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Tl AT Par s includin ent : 2 fin AT Par g, proppir concrete.	gregate and fine nd orPortland stretard setting of concretard, shuttering, fine grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including etc. and remoder of the sand o	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ng, bendin ally Treate ipinted wi g testing
111 112 113 113 114	cement derived admixturing proversity improved laying, reinforce All work content 11 Descripplacing bars of 9 12 Descripplacing bars of 9 13 Descripplacing bars of 9 14 Descripplacing bars of 9 15	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 5000.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 19.36. Cture of ceme as a complete. Solution:- 5.9.1 L Foundations 2000.00	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding a D or more. Kg 6 Steel reinfond binding al D or more. Metre 5 Providing nt mortar in 19.36.5 1200 Sqm Centering ar footings, bases	rement concre Portland Pozz Pozz Pozz Pozz Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of in-charge, for the inding	ary Portla elerate or cluding pu f centerin f following of M25 of AT Par ading stra 5.22.6 Th AT Par uding stra 5.22A.6 Ti AT Par s includin ent : 2 fin AT Par g, proppir concrete. AT Par	gregate and fine nd orPortland stretard setting of concretard, shuttering, fing grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including 97335.00 ng etc. and remo-	e aggrega Slagcemer concrete, ete to site nishing ar rete.: 5.33 mum ceme ag, bendin ally Treate jointed wi g testing oval of for
111 112 113 113 114	cement derived admixturimprove laying, reinforce All work content 11 Descripplacing bars of 9 12 Descripplacing bars of 9 13 Descripplacing bars of 9 14 Descripplacing bars of 9 15 Descripplacing bars of 9 16 17 Descripplacing bars of 9 18 Descripplacing bars of 9 19 Descripplacing bars of 9 10 Descripplacing bars of 9 11 Descripplacing bars of 9 12 Descripplacing bars of 9 13 Descripplacing bars of 9 14 Descripplacing bars of 9 15 Descripplacing bars of 9 16 Descripplacing bars of 9 17 Descripplacing bars of 9 18 Descripplacing bars of 9 19 Descripplacing bars of 9 10 Descripplacing bars o	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 5000.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 L Foundations 2000.00 ction:- 5.9.5 ction:- 5.9.5	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding a D or more. Kg 6 Steel reinfond binding al D or more. Metre 5 Providing nt mortar in 19.36.5 1200 Sqm Centering ar footings, bas sqm Centering ar Gentering ar Metre of the serior of the s	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of in-charge, for the inding	ary Portla elerate or cluding pu f centerin f following e of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Ti AT Par g, proppir concrete. AT Par g, proppir	gregate and fine nd orPortland stretard setting of concretard, shuttering, fit grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including 97335.00 ng etc. and remong etc. and remong etc. and remong etc. and remond or support of the sand remong etc. and remong etc. and remong etc. and remond etc.	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ng, bendin ally Treate jointed wi g testing
11	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 12 Descrip placing bars of of 13 Descrip stiff mix joints et 14 Descrip for 5.9.1 15 Descrip for 5.9.5	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 50.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 Foundations 2000.00 ction:- 5.9.5 c Lintels, bear	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding of or more. Kg 6 Steel reinfond binding all or more. Metre 5 Providing nt mortar in 19.36.5 1200 Sqm Centering ar, footings, base sqm Centering arns, plinth be	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost on-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work included by the cost of the strength of the cost of the strength of the cost of	ary Portla elerate or cluding pu f centerin following of M25 of AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Th AT Par g, proppir concrete. AT Par g, proppir cantilevers	gregate and fine nd orPortland stretard setting of concretard, shuttering, fing grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 ig collarorspigot e sand) including 97335.00 ing etc. and remota 1281880.00 ing etc. and remota in the sand remota in the	e aggrega Slagcemer concrete, ete to site nishing ar rete.: 5.33 mum ceme ng, bendin ally Treate jointed wi g testing oval of for
111	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 13 Descrip stiff mix joints et 14 Descrip for 5.9.1 15 Descrip for 5.9.5 16	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and arade Fe-5000 50.00 ction:- 19.36 cture of ceme as complete. Soundations:- 5.9.1 Foundations 2000.00 ction:- 5.9.5 Elintels, bear 500.00	reinforced of sources, mended proposed workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing and binding allo or mortar in 19.36.5 1200 Sqm Centering ar, footings, based on sqm Centering arns, plinth be Sqm	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to accesiring strength; inding the cost on-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work included by the plinth level. 4722500.00 R.C.C. work included by the plinth level. 520003.50 A Class RCC pipe of 1:2 (1 cemeral property of 1:2 (1 c	ary Portla elerate or cluding pu f centerin following of M25 of AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 To AT Par g, proppir concrete. AT Par g, proppir cantilevers AT Par	gregate and fine nd orPortland stretard setting of concretard, shuttering, fing grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 ightening cutting sand) including 97335.00 in getc. and remota 1281880.00 in getc.	e aggrega Slagcemen concrete, ete to site nishing and rete.: 5.33 mum cemen ag, bendin ally Treate pignished wing g testing
111	cement derived admixtu improve laying, reinforc All work content 11 Descrip placing bars of of 13 Descrip stiff mix joints et 14 Descrip for 5.9.1 15 Descrip for 5.9.5 16 Descrip	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and arade Fe-5000 50.00 ction:- 19.36 cture of cemeral complete. Soundation:- 5.9.1 Foundations 2000.00 ction:- 5.9.5 Elintels, bear 500.00 ction:- 5.9.3 ction	reinforced of sources, mended proposed workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing and binding allo or mortar in 19.36.5 1200 Sqm Centering ar, footings, base sqm Centering arns, plinth be Sqm Centering ar	portland Pozz pozz pozz pozz pozz pozz pozz pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost on-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work included by the plinth level. 4722500.00 R.C.C. work included by the plinth level. 520003.50 A Class RCC pipe of 1:2 (1 cemeral property of 1:2 (1 c	ary Portla elerate or cluding pu f centerin following of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 To AT Par g, proppir concrete. AT Par g, proppir cantilevers AT Par g, proppir	gregate and fine nd orPortland stretard setting of concretard, shuttering, fing grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 ightening, cutting hermo-Mechanica 1281880.00 in getc. and remota 1281880.00 in getc.	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ag, bendir ally Treate pig, bendir ally Treate jointed wi g testing
111	cement derived admixturimprove laying, reinforce All work content 11 Descripplacing bars of 9 12 Descripplacing bars of 9 13 Descripplacing bars of 9 13 Descripplacing bars of 9 14 Descripplacing bars of 9 15 Descripplacing bars of 9 16 Descripplacing bars of 9 17 Descripplacing bars of 9 18 Descripplacing bars of 9 19 10 Descripplacing bars of 9 10 Descripplacing bars of 9 11 Descripplacing bars of 9 12 Descripplacing bars of 9 13 Descripplacing bars of 9 14 Descripplacing bars of 9 15 Descripplacing bars of 9 16 Descripplacing bars of 9 17 Descripplacing bars of 9 18 Descripplacing bars of	concrete for from natural res in recomme durability and curing, carrial ement as per sabove plint of 330 kg orc 100000.00 ction:- 5.22.6 in position a grade Fe-5000 5000.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 cture of ceme care complete. Suppose 500.00 ction:- 5.9.1 cture of ceme care complete. Suppose 500.00 ction:- 5.9.5 ctintels, bear 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.5 ctintels, bear 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture of ceme care complete. Suppose 500.00 ction:- 5.9.3 cture cture complete. Suppose 500.00 ction:- 5.9.3 cture	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding all or more. Metre 5 Providing nt mortar in 19.36.5 1200 Sqm Centering ar footings, base sqm Centering arns, plinth be Sqm Centering ar illoors, roofs,	rement concre Portland Pozz Pozz Pozz Pozz Pozz Pozz Pozz Pozz	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of in-charge, for the inding inding inding inding inding inding inding strutting inding strutting inding strutting inding indin	ary Portla elerate or cluding pu f centerin f following e of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Ti AT Par g, proppir concrete. AT Par g, proppir cantilevers AT Par	gregate and fine nd orPortland stretard setting of concretary, shuttering, fit grades of concretard with mining 9445000.00 ightening, cutting thermo-Mechanical stretches and including 97335.00 ing etc. and remote the stretches are stretches are stretches and remote the stretches are stretches and remote the stretches are	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum ceme ally Treate jointed wi g testing oval of for
111 112 113 114 115	cement derived admixturimprove laying, reinforce All work content 11 Descripplacing bars of a content of a	concrete for from natural res in recomme durability and curing, carrial ement as per sabove plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 5000.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 cture of ceme cc. complete. 3000.00 ction:- 5.9.1 cture for ceme cc. complete. 3000.00 ction:- 5.9.5 ctintels, bear 500.00 ction:- 5.9.3 ctures for complete	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing and Dor mortar in 19.36.5 1200 Sqm Centering ar, footings, base sqm Centering arns, plinth be Sqm Centering ar alloors, roofs, Sqm	gement concre Portland Pozz Potential Experiment for I portland I complete upon I complete about 10400.07 I comp	te work; using or olana or Ordina IS: 9103 to acceliring strength; inding the cost of in-charge, for the indination of t	ary Portla elerate or cluding pu f centerin f following e of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Ti AT Par s includin ent : 2 fin AT Par g, proppir concrete. AT Par g, proppir cantilevers AT Par g, proppir platform. AT Par	gregate and fine nd orPortland stretard setting of concretary, shuttering, fit grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including 97335.00 ing etc. and remosal 403810.00 ing etc.	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum ceme ng, bendin ally Treate jointed wi g testing oval of for oval of for
111	cement derived admixturimprove laying, reinforce All work content 11 Descripplacing bars of a stiff mix joints et 14 Descripfor 5.9.1 15 Descripfor 5.9.1 16 Descripfor 5.9.3 17 Descripfor 5.9.3	concrete for from natural res in recomme durability and curing, carrial ement as per sabove plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 5000.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 cture of ceme carriage from the complete carried and ca	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing and Dormore in 19.36.5 1200 Sqm Centering ar, footings, base sqm Centering arns, plinth be sqm Centering arloors, roofs, sqm Centering ar	gement concre Portland Pozz Potential Experiment for I portland I complete upon I complete about 10400.07 I comp	te work; using or olana or Ordina IS: 9103 to accesiring strength; inding the cost on-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work inclupto plinth level. 4722500.00 R.C.C. work inclupto plinth level. 520003.50 A Class RCC piper of 1:2 (1 cemerical company of the c	ary Portla elerate or cluding pu f centerin f following e of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Ti AT Par s includin ent : 2 fin AT Par g, proppir concrete. AT Par g, proppir cantilevers AT Par g, proppir platform. AT Par	gregate and fine nd orPortland stretard setting of concretary, shuttering, fit grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including 97335.00 ing etc. and remosal 403810.00 ing etc.	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum cemen ng, bendir nally Treate jointed wi g testing oval of for oval of for
111 112 113 114 115	cement derived admixtuimprove laying, reinforc All work content 11 Descrip placing bars of of 13 Descrip stiff mix joints et 14 Descrip for 5.9.1 15 Descrip for 5.9.5 16 Descrip for 5.9.5 17 Descrip for 5.9.5 17	concrete for from natural res in recomme durability and curing, carrial ement as per as above plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 50.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 Foundations 2000.00 ction:- 5.9.1 Foundations 500.00 ction:- 5.9.5 Elintels, bear 500.00 ction:- 5.9.3 Suspended for 150.00 ction:- 5.9.3 Suspended for 150.00 ction:- 5.9.19 Weather sh	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing and Dormore in 19.36.5 1200 Sqm Centering ar, footings, base sqm Centering arns, plinth be sqm Centering arloors, roofs, sqm Centering ar	rement concre Portland Pozz Potential Pozz Poz	te work; using or olana or Ordina IS: 9103 to accesiring strength; including the cost on charge, for the is.33.2.1 Concrete 9445000.00 R.C.C. work including the level. 194500.00 R.C.C. work including structions, etc. for mass of 1281880.00 Including structions and access 128791.50 including structions and access 128791.50 including structions and access 128791.50 including edges .	AT Par uding stra 5.22.6 Th AT Par uding proppir toncrete. AT Par uding stra 5.22.6 Th AT Par uding proppir toncrete. AT Par uding proppir udi	gregate and fine nd orPortland stretard setting of concretary, shuttering, fit grades of concretard with mining 9445000.00 ightening, cutting thermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including 97335.00 ing etc. and removed 1281880.00 ing etc. and removed in the sand re	e aggrega Slagcemen concrete, ete to site nishing an rete.: 5.33 mum ceme ag, bendir ally Treate jointed wi g testing oval of for oval of for
111 12 13 14 15 16	cement derived admixturimprove laying, reinforce All work content 11 Descripplacing bars of a stiff mix joints et 14 Descripfor 5.9.1 15 Descripfor 5.9.1 16 Descripfor 5.9.3 17 Descripfor 5.9.3	concrete for from natural res in recomme durability and curing, carrial ement as per sabove plint of 330 kg orc 100000.00 ction:- 5.22.6 in position and grade Fe-5000 5000.00 ction:- 5 22A in position and grade Fe-5000 50.00 ction:- 5.9.1 cture of ceme carriage from the complete carried and ca	reinforced of sources, mended prop d workability ge for all le direction of h level upto um Kg Steel reinfond binding allo or more. Metre 5 Providing and Dormore in 19.36.5 1200 Sqm Centering ar, footings, base sqm Centering arns, plinth be sqm Centering arloors, roofs, sqm Centering ar	gement concre Portland Pozz Potential Experiment for I portland I complete upon I complete about 10400.07 I comp	te work; using or olana or Ordina IS: 9103 to accesiring strength; inding the cost on-charge, for the 5.33.2.1 Concrete 9445000.00 R.C.C. work inclupto plinth level. 4722500.00 R.C.C. work inclupto plinth level. 520003.50 A Class RCC piper of 1:2 (1 cemerical company of the c	ary Portla elerate or cluding pu f centerin f following e of M25 o AT Par uding stra 5.22.6 Th AT Par uding stra 5.22A.6 Ti AT Par s includin ent : 2 fin AT Par g, proppir concrete. AT Par g, proppir cantilevers AT Par g, proppir platform. AT Par	gregate and fine nd orPortland stretard setting of concretary, shuttering, fit grades of concretard with mining 9445000.00 ightening, cutting hermo-Mechanica 4722500.00 ightening, cutting hermo-Mechanica 520003.50 g collarorspigot e sand) including 97335.00 ing etc. and remosal 403810.00 ing etc.	e aggrega Slagceme concrete ete to site nishing a rete.: 5.33 mum cem ag, bendir ally Treato ig, bendir ally Treato oval of for

Page 2 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

					on burnt clay r. L Cement mortar		modular) brick: nent : 4 coarse s:	
	19	200.00	cum	8968.11		AT Par	1793622.00	ини)
					on burnt clay F.			s of class
19	designatio	n 7.5 in sup	erstructure		evel up to floor V			
	20	75.00	Sqm	1098.98	82423.50	AT Par	82423.50	
20					ommon burnt cla			ks of class
20	designatio		erstructure		level up to floor			
21	21	2000.00	Sqm	310.12	620240.00	AT Par	620240.00	
					mix : 13.4.2 1:6			
	22	2000.00	Sqm	167.47	334940.00	AT Par	334940.00	
22	using Prim	ier as per m	anufacturer	s specification	Multi surface pains: 13.48.1 Two execute coat of Special	or more co	oats applied on v	valls at the
	23	400.00	Sqm	382.92	153168.00	AT Par	153168.00	
23	gypsum li respective such as b	ghtweight p ly conformir are brickor	olaster haviing to IS: 25	ng additives a 47 (Part - 1 ar C work on wa	2 mm thick (ave and light weight nd II) 1976, appli Ils and ceiling a	aggregat ed on hac	es as vermiculit ked or uneven b	eor perlito ackground
	24	200.00	Sqm	718.17	143634.00	AT Par	143634.00	
24	coarse sar derived fro	nd (zone-lll) om natural	derived from sources) over	m natural soui er 75 mm thio	0 mm thick of concests: 6 graded states of dry brown and including	stone aggr ick ballast	regate 20 mm n	ominal siz ıl size, we
					e sand, including	, necessur	y executation, le	vennig and
			the top smo			AT Par	269704.50	
25	dressing a 25 Description with grey polishing contacts	nd finishing 150.00 on:- 11.26.1 cement slur	Sqm L Kota stone Try mixed w	ooth. 1798.03 slab flooring o ith pigment to	269704.50 over 20 mm (ave o match the sha 1 : 4 (1 cement :	AT Par rage) thick de of the	269704.50 k base laid over a slab, including re	and jointed
25	dressing a 25 Description with grey polishing composition 26	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00	Sqm L Kota stone ry mixed w th base of ce	1798.03 slab flooring c ith pigment to ement mortar 1 1492.54	269704.50 over 20 mm (ave o match the sha 1 : 4 (1 cement : 746270.00	AT Par rage) thick de of the s 4 coarse s AT Par	269704.50 k base laid over a slab, including re and): 11.26.1 25 746270.00	and jointed ubbing and 5 mm thick
25 26	dressing a 25 Description with grey polishing composed polishing com	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41 by the man approved r 4 coarse sa he joints wi	Sqm L Kota stone ry mixed w th base of ce Sqm 2 Providing ufacturer) w make, in all and), jointin	slab flooring of the pigment to the temperature of the pigment to the temperature of the	269704.50 over 20 mm (ave o match the sha 1 : 4 (1 cement :	AT Par thicked of the standard AT Par standard AT Par standard Standard AT Par	269704.50 k base laid over a slab, including reand): 11.26.1 25 746270.00 rent sizes (thick cent and conformatick cement moof 3.3 kgor sqn	and jointed ubbing and 5 mm thick ness to be ming to IS rtar 1:4 (2 n including
	dressing a 25 Description with grey polishing of the color of the co	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41 by the man approved r 4 coarse sa he joints wi	Sqm L Kota stone ry mixed w th base of ce Sqm 2 Providing ufacturer) w make, in all and), jointin	slab flooring of the pigment to the temperature of the pigment to the temperature of the	269704.50 over 20 mm (aver 20 match the shall 1: 4 (1 cement: 746270.00 over titrified floor tile corption less that shades, laid on cement slurry at atching pigments	AT Par thicked of the standard AT Par standard AT Par standard Standard AT Par	269704.50 k base laid over a slab, including reand): 11.26.1 25 746270.00 rent sizes (thick cent and conformatick cement moof 3.3 kgor sqn	and jointed ubbing and 5 mm thick ness to be ming to IS rtar 1:4 (1 n including
	dressing a 25 Description with grey polishing of the content of	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41.1 by the man approved r 4 coarse sa he joints winm 20.00 on:- 11.37 F ed by the man thite, Ivory, and), Jointing	Sqm L Kota stone rry mixed w th base of ce Sqm 2 Providing ufacturer) w make, in all and), jointin ith white ce Sqm Providing an anufacturer) Grey, Fume with grey ce	slab flooring of ith pigment to ement mortar: 1492.54 and laying voith water aborement and g with grey of ement and materials. 985.72 d laying Ceran of 1st quality Red Brown, laget ith province of the colory of the colors of the colory of the colors of the colory of the colors of the colory of the colors of the colory of the colors	269704.50 over 20 mm (aver 20 match the shared the shared the shared the shared the shared the sorption less that shades, laid on the shared th	AT Par et al. AT	269704.50 k base laid over a slab, including ruand): 11.26.1 25 746270.00 Tent sizes (thick cent and conformick cement monof 3.3 kgor squand): 11.41.2 5 19714.40 300x300 mm (tof approved make t mortar 1:4 (1.0)	and jointed ubbing and 5 mm thick ness to be ming to IS rtar 1:4 (1 n including Size of Tile hickness to e in colours Cement : 4
26	dressing a 25 Description with grey polishing of the content of	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41.1 by the man approved r 4 coarse sa he joints winm 20.00 on:- 11.37 F ed by the man thite, Ivory, and), Jointing	Sqm L Kota stone rry mixed w th base of ce Sqm 2 Providing ufacturer) w make, in all and), jointin ith white ce Sqm Providing an anufacturer) Grey, Fume with grey ce	slab flooring of ith pigment to ement mortar: 1492.54 and laying voith water absolutes and g with grey of ement and materials. 985.72 d laying Ceran of 1st quality Red Brown, latement slurry and sement slurry and sement slurry and sement slurry and sement slurry and slab flooring slab flooring.	269704.50 over 20 mm (aver 20 mm (aver 20 mm) (aver 20 mm	AT Par et al. AT	269704.50 k base laid over a slab, including ruand): 11.26.1 25 746270.00 Tent sizes (thick cent and conformick cement monof 3.3 kgor squand): 11.41.2 5 19714.40 300x300 mm (tof approved make t mortar 1:4 (1.0)	and jointed ubbing and 5 mm thick ness to be ming to IS rtar 1:4 (1 n including Size of Tile hickness to e in colours Cement : 4
26	dressing a 25 Description with grey polishing of 26 Description specified I 15622, of cement : grouting to 600x600 m 27 Description be specified such as W Coarse saw with white 28 Description 15622 (this burgundy, and dados grey cement certification).	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41 by the man approved r 4 coarse sa he joints winm 20.00 on:- 11.37 F ed by the man approved r 100.00 on:- 11.37 F ckness to be bottle green sover 12 m ent slurry a	the top smood Sqm L Kota stone ry mixed with base of centry sqm 2 Providing ufacturer) where in all and), jointing ith white centry sqm Providing an anufacturer) Grey, Fume with grey could in the square	and laying verment and market and solurs and g with grey coment and market and solure and fixing 1st of 1st quality Red Brown, laying ment slurry a sigment etc., coment and fixing 1st of 1st quality and fixing 1s	269704.50 over 20 mm (aver 20 mm (aver 20 mm) (aver 20 mm	AT Par de of the set conservation of the set conservat	269704.50 k base laid over a slab, including reand): 11.26.1 25 746270.00 ent sizes (thick cent and conformatick cement moof 3.3 kgor squaplete. 11.41.2 5 19714.40 300x300 mm (to find a sport of the conformatic conformatic conformatic conformatic conformatic conformatic conformatic colours, shape in skirting, rise sand) and jour conformatic colours, shape in skirting, rise sand) and jour conformatic colours, shape in skirting, rise sand) and jour colours an	and jointed ubbing and 5 mm thick ness to be ming to IS rtar 1:4 (2 n including Size of Tile hickness to e in colours get the joints des excep ers of steps binting with
227	dressing a 25 Description with grey polishing of 26 Description specified I 15622, of cement : grouting to 600x600 m 27 Description be specified such as W Coarse saw with white 28 Description 15622 (this burgundy, and dados grey cement certification).	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41 by the man approved r 4 coarse sa he joints winm 20.00 on:- 11.37 F ed by the man approved r 100.00 on:- 11.37 F ckness to be bottle green sover 12 m ent slurry a	Sqm L Kota stone ry mixed which base of certain states of certain	and laying verment and market and solurs and g with grey coment and market and solure and fixing 1st of 1st quality Red Brown, laying ment slurry a sigment etc., coment and fixing 1st of 1st quality and fixing 1s	269704.50 over 20 mm (aver of match the shall : 4 (1 cement : 746270.00) ditriffied floor tile corption less that shades, laid on the cement slurry at atching pigments 19714.40 mic glazed floor to conforming to IS aid on 20 mm that the rate of 3.3 complete. 98878.00 quality ceramic currer) of approved by Engine ortar 1:3 (1 cem sqm including p	AT Par de of the set conservation of the set conservat	269704.50 k base laid over a slab, including reand): 11.26.1 25 746270.00 ent sizes (thick cent and conformatick cement moof 3.3 kgor squaplete. 11.41.2 5 19714.40 300x300 mm (to find a sport of the conformatic conformatic conformatic conformatic conformatic conformatic conformatic colours, shape in skirting, rise sand) and jour conformatic colours, shape in skirting, rise sand) and jour conformatic colours, shape in skirting, rise sand) and jour colours an	and jointed ubbing and 5 mm thick ness to be ming to IS rtar 1:4 (In including Size of Tile thickness to be in colours Cement: 4 g the joints des excepers of steps ointing with
227	dressing a 25 Description with grey polishing of 26 Description specified I 15622, of cement : grouting to 600x600 m 27 Description be specified such as W Coarse saw with white 28 Description 15622 (this burgundy, and dados grey cement in grouting to 29 Description be specified in the sp	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41 by the man approved r 4 coarse sa he joints winm 20.00 on:- 11.37 F ed by the man approved r thite, Ivory, hd), Jointing cement and 100.00 on:- 11.37A ckness to be bottle greet s over 12 m ent slurry a f matching s 100.00 on:- 11.56 n linear as with 18 mm 4 coarse sa with pigment and as direct	Sqm L Kota stone ry mixed with base of ce Sqm 2 Providing ufacturer) when the ce Sqm Providing an anufacturer of matching ry Sqm A Providing and thick bed at the rate shade complement of matching well as curventick stone and laid and the cet of matching well as curventick stone and laid and the cet of matching well as curventick stone and laid and the cet of matching the cet of th	slab flooring of the pigment to the pigment to the pigment to the pigment to the pigment and laying vith water absolutes and g with grey of the pigment and material strong the pigment etc., to the pigment etc., the p	269704.50 over 20 mm (aver of match the shall : 4 (1 cement : 746270.00) ditriffied floor tile corption less that shades, laid on the cement slurry at atching pigments 19714.40 mic glazed floor the conforming to IS aid on 20 mm the cement slurry at conforming to IS aid on 20 mm the conforming to IS aid on 20 mm the conforming to IS aid on 20 mm the cement at the rate of 3.3 complete. 98878.00 quality ceramic cturer) of approved by Engine ortar 1:3 (1 cem sqm including p	AT Par sin differ n 0.08 perc 20 mm the the rate setc., con AT Par siles of size setc. sick cement kgorsqm i er-in-Chargent: 3 coa ointing in AT Par stone floor all completick basind pointing and poin	269704.50 k base laid over a slab, including reand): 11.26.1 25 746270.00 ent sizes (thick cent and conformatick cement mo of 3.3 kgor squapplete. 11.41.2 \$ 19714.40 300x300 mm (to approved make to mortar 1:4 (1 conformatic confo	and jointed ubbing and jointed ubbing and jointed ubbing and 5 mm thick ness to be ming to IS rear 1:4 (in including the joint cement : 4 g the joint mixed with mixed with design and rehitectural ortar 1:4 (in ment slurromplete a signification of the slurromplete a significant slurromplete signific
227	dressing a 25 Description with grey polishing of 26 Description specified I 15622, of cement : grouting to 600x600 m 27 Description be specified such as W Coarse saw with white 28 Description 15622 (this burgundy, and dados grey cement in grouting to 29 Description be specified in the sp	nd finishing 150.00 on:- 11.26.1 cement slur complete wit 500.00 on:- 11.41 by the man approved r 4 coarse sa he joints winm 20.00 on:- 11.37 F ed by the man approved r thite, Ivory, hd), Jointing cement and 100.00 on:- 11.37A ckness to be bottle greet s over 12 m ent slurry a f matching s 100.00 on:- 11.56 n linear as with 18 mm 4 coarse sa with pigment and as direct	Sqm L Kota stone ry mixed w th base of ce Sqm 2 Providing ufacturer) w make, in all and), jointin ith white ce Sqm Providing an anufacturer) Grey, Fume with grey ce d matching r sqm A Providing a thick bed at the rate shade compl Sqm 1 Providing well as curv thick stone and) laid and to of matchine	slab flooring of the pigment to the pigment to the pigment to the pigment to the pigment and laying vith water absolutes and g with grey of the pigment and material strong the pigment etc., to the pigment etc., the p	269704.50 over 20 mm (average) o match the shares of match the shares of the sorption less that shades, laid on the shades, laid on the shades, laid on the shades of the	AT Par sin differ n 0.08 perc 20 mm the the rate setc., con AT Par siles of size setc. sick cement kgorsqm i er-in-Chargent: 3 coa ointing in AT Par stone floor all completick basind pointing and poin	269704.50 k base laid over a slab, including reand): 11.26.1 25 746270.00 ent sizes (thick cent and conformatick cement mo of 3.3 kgor squapplete. 11.41.2 \$ 19714.40 300x300 mm (to approved make to mortar 1:4 (1 conformatic confo	and jointed ubbing and jointed ubbing and jointed ubbing and 5 mm thick ness to be ming to IS rear 1:4 (ming to IS ides exception of step in the joint mixed with design an orchitectural rear 1:4 (ment slurromplete and in the joint of the joint in the j

Page 3 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

30					crete flooring wi			
					ement : 2 coarse			
					c cement harde nominal size) by			
					per manufacture			
					of steps etc. com			
	31	1200.00	Sqm	97.72	117264.00	AT Par	117264.00	
31					uality acrylic d			
					manufacturer a			d colour all
				1	.42.1 two or mor			
32	32	50.00	Sqm	34.19	1709.50	AT Par	1709.50	ul. /hlauaa au
32	more coats)		. wnite wasi	ning with lime	e to give an eve	n snade : 1	.3.37.1 New Wo	rk (three or
	33	1000.00	Sqm	102.83	102830.00	AT Par	102830.00	
33	Descriptio	n:- 13.44.1	Finishing w	alls with wat	er proofing cem	ent paint o	of required shad	de:13.44.1
	New work (Γwo or mor	e coats appl	ied at the rate	e of 3.84 kgor10	sqm)	-	
	34	80000.00	Kg	98.03	7842400.00	AT Par	7842400.00	
34					ngle section, fix			
	complete.	itting, hoist	ting, fixing i	n position and	d applying a prir	ning coat o	of approved stee	el primer all
		20000.00	Kg	82.39	9886800.00	AT Par	9886800.00	
			-		ed, bolted or we			truccae and
35					in position and			
	steel prime			3, 3	,	11,5	. 3	
	36	1200.00	Sqm	1530.00	1836000.00	AT Par	1836000.00	
					all heights, leve			
					0, temper Hx8 co			
36					ormability and co equired pitch or			
					nm long with 3 n			
					complete as per			
					ely). 12.64.3 0.9			
	37	1000.00	Kg	645.05	l profile width 10 645050.00		645050.00	111111.
			-		less steel (Grad			allow tubes
					g, buffing, polis			
37	required) a	nd fitting th	he same wit	h necessary s	tainless steel nu	its and bol	ts complete, ior	c fixing the
					s steel dash fas			
					side of waist sla Irpose only weig			
					nuts, bolts, faste		ess steel memb	CIS SHAII BC
	38	1500.00	cum	21.65	32475.00	AT Par	32475.00	
38	Descriptio	n:- 16.2 E	xtra for cor	npaction of e	arth work in er	nbankment	t under optimu	m moisture
	conditions t	o give at le	ast 95perce	nt of the maxi	imum dry densit	y (proctor c	density).	
	39	1000.00	cum	2752.93	2752930.00	AT Par	2752930.00	
					ular sub-base l			
39					nical mix plant a ling in uniform la			
					n vibratory powe			
					of Engineer-in-0			
	Grade-III (si		6.5 mm to 0		ing CBR Value-2	20		
	40	550.00	cum	4351.83	2393506.50		2393506.50	
l	Doccrintio	10 00 0	Construction		ement concrete			
	with coarse	and fine a					ggregate not ex	
40	with coarse mm, aggree	and fine a gate cemer	nt ratio not	to exceed 15	5:1, aggregate g	gradation a	fter blending to	be as per
40	with coarse mm, aggree specification determined	and fine a gate cement ns, cement during tria	nt ratio not content no al length cor	to exceed 15 t to be less to estruction, con	5:1, aggregate o than 150 Kgorci ncrete strength	gradation a um, optimu not to be l	fter blending to um moisture co ess than 10 Mp	be as per ntent to be a at 7days,
40	with coarse mm, aggree specification determined mixed in a	and fine a gate cement ns, cement during tria batching p	nt ratio not content no al length cor blant, transp	to exceed 15 of to be less to struction, cororted to site,	5:1, aggregate o than 150 Kgorco ncrete strength for all leads an	gradation a um, optimu not to be la lad lifts, laid	fter blending to um moisture co ess than 10 Mp I with a mecha	be as per ntent to be a at 7days, nical paver,
40	with coarse mm, aggres specification determined mixed in a compacting	and fine a gate cemen ns, cement during tria batching p with 8-10	nt ratio not content no al length cor blant, transp	to exceed 15 of to be less to struction, cororted to site,	5:1, aggregate o than 150 Kgorci ncrete strength	gradation a um, optimu not to be la lad lifts, laid	fter blending to um moisture co ess than 10 Mp I with a mecha	be as per ntent to be a at 7days, nical paver,
40	with coarse mm, aggree specification determined mixed in a compacting Engineerin-	and fine a gate cemen ns, cement during tria batching p with 8-10 charge.	nt ratio not content no al length cor blant, transp tonne vibra	to exceed 15 to be less to struction, cororted to site, atory roller, fi	5:1, aggregate of than 150 Kgorco ncrete strength for all leads an nishing and cur	gradation a um, optimu not to be la id lifts, laid ing etc. co	fter blending to um moisture co ess than 10 Mp I with a mecha mplete as per	be as per ntent to be a at 7days, nical paver,
40	with coarse mm, aggres specification determined mixed in a compacting	and fine a gate cemen ns, cement during tria batching p with 8-10	nt ratio not content no al length cor blant, transp	to exceed 15 of to be less to struction, cororted to site,	5:1, aggregate o than 150 Kgorco ncrete strength for all leads an	gradation a um, optimu not to be la lad lifts, laid	fter blending to um moisture co ess than 10 Mp I with a mecha	be as per ntent to be a at 7days, nical paver,
40	with coarse mm, aggree specification determined mixed in a compacting Engineerin-	and fine a gate cemen ns, cement during tria batching p with 8-10 charge.	nt ratio not content no al length cor blant, transp tonne vibra	to exceed 15 to be less to struction, cororted to site, atory roller, fi	5:1, aggregate of than 150 Kgorco ncrete strength for all leads an nishing and cur	gradation a um, optimu not to be la id lifts, laid ing etc. co	fter blending to um moisture co ess than 10 Mp I with a mecha mplete as per	be as per ntent to be a at 7days, nical paver,
40	with coarse mm, aggree specification determined mixed in a compacting Engineerin-	and fine a gate cemen ns, cement during tria batching p with 8-10 charge.	nt ratio not content no al length cor blant, transp tonne vibra	to exceed 15 to be less to struction, cororted to site, atory roller, fi	5:1, aggregate of than 150 Kgorco ncrete strength for all leads an nishing and cur	gradation a um, optimu not to be la id lifts, laid ing etc. co	fter blending to um moisture co ess than 10 Mp I with a mecha mplete as per	be as per ntent to be a at 7days, nical paver,

Page 4 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

tracksor runways, using cement content as per design mix, using coarse sand and graded staggregate of 40 mm nominal size in appropriate proportions as per approved and specified decriteria, providing dowel bars with sleeveor tie bars wherever required, laying at site, spreading compacting mechanically by using needle and surface vibrators, levelling to required slopeor cam finishing with required texture, including steel form work with sturdy M.S. channel sections, cur making provision for contractionor expansion, construction and longitudinal joints (10 mm wide with slopeor compacting provision for contraction of Engineer-in-charge (tiem of joint filters, sealants, dowed with slopeor compacting of the provision of the contraction of Engineer-in-charge (tiem of joint filters, sealants, dowed with slopeor compacting of the sealants, complete all as per direction of Engineer-in-charge (tiem of joint filters, sealants, dowed with slopeor compacting of the sealants). Note: Cement of the sealants					, , ,			⁻ M-30 grade, in	
mm deep) by groove cutting machine, providing and filling joints with approved joint filler sealants, complete all as per direction of Engineer-in-charge (tlem of joint fillers, sealants, dowel the with sleeveor tie bars to be paid eparately). Note: Cement content considered in M-30 is at the rat 340 kgorcum. Excessoriess cement used as per design mix is payableor recoverable separat 16.43.1 Cement concrete prepared with batch mixing machine 42 4.00 Each 6091.07 24364.28 AT Par 24364.28 Description: 17.2 Providing and fixing white vitreous china pedestal type water closet (Europt type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush pi with manually controlled device (handle lever), conforming to 15: 7231, with all fittings and fixit complete, including cutting and making good the walls and floors wherever required: 17.2.1 W.C. with ISI marked white solid plastic seat and lid with smarked white solid plastic seat and lid urinal basin of 430x260x350 mm and 340x410x265 mm sizes respectively with automatic flust cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps comple including painting of fittings and brackets, cutting and making good the walls and floors where required: 17.4.1 One urinal basin with 5 litre white P.V.C. automatic flushing cistern 44 4.00 Each 2396.88 9587.52 AT Par 9587.52 Description: 17.7 Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting and making good the walls wherever require: 17.7.1 White Vitreous China Wash basin size 630x450 with a pair of 15 mm C.P. brass pillar taps and pattern in the providing and fixing P.V.C. waste pipe for sink or wash basin including P.V. waste fittings complete. 17.28.1.1 Semi rigid pipe 32 mm dia 46 4.00 Each 99.2.62 3970.48 AT Par 9587.52 Description: 17.35 Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V. waste fittings or th	41	aggregat criteria, ¡ compacti finishing	e of 40 mm providing doving mechanic with require	nominal siz wel bars wit cally by using d texture, in	e in appropria h sleeveor tie g needle and s ncluding steel	ate proportions a bars wherever surface vibrators form work with	as per app required,la , levelling sturdy M.	proved and spec aying at site, sp to required slop .S. channel secti	rified design reading and eor camber ions, curing
16.43.1 Cement concrete prepared with batch mixing machine 42		mm dee sealants, with slee	p) by groov complete all veor tie bars	e cutting m I as per dire to be paid e	nachine, provious provious province contraction of Engine parately). Note	ding and filling eer-in-charge (Ite e:- Cement conte	joints wit em of joint ent consid	th approved join fillers, sealants, ered in M-30 is a	nt filler an , dowel bar t the rate o
Description:- 17.2 Providing and fixing white vitreous china pedestal type wether closet (Europ type W.C. pan) with seat and lid, 10 litre low level white PV.C. flushing cisters, including flush pin with manually controlled device (handle lever), conforming to 15 : 7231, with all fittings and fixing sood the walls and floors wherever required : 17.2.1 W.C. with ISI marked white solid plastic seat and lid. 43							is payabl	eor recoverable	separately
type W.C. pan) with seat and lid, 10 litre low level white P.V.C. flushing cistern, including flush with manually controlled device (handle levery), conforming to 15: 7231, with all fittings and fixth complete, including cutting and making good the walls and floors wherever required: 17.2.1 W.C. with ISI marked white solid plastic seat and lid with ISI marked white solid plastic seat and lid with ISI marked white solid plastic seat and lid with ISI marked white solid plastic seat and lid urinal basin of 430x260x350 mm and 340x410x265 mm sizes respectively with automatic flush cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps compliculding painting of fittings and brackets, cutting and making good the walls and floors where required: 17.4.1 One urinal basin with 5 litre white P.V.C. automatic flushing cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps compliculding painting of fittings and brackets, cutting and making good the walls and floors where require: 17.7.7 providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting making good the walls wherever require: 17.7.1 White Vitreous China Wash basin size 630x450 with a pair of 15 mm C.P. brass pillar taps mm C.P. brass pillar taps making good the walls wherever require: 17.7.1 White Vitreous China Wash basin including P.V. waste fittings complete. 17.28 Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V. waste fittings complete. 17.28 Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V. waste fittings complete. 17.28.1.1 Semi rigid pipe 32 mm dia 46									
Description: 17.4 Providing and fixing white vitreous china flat back or wall corner type lipped furinal basin of 430x260x350 mm and 340x410x265 mm sizes respectively with automatic flush including painting of fittings and brackets, cutting and making good the walls and floors where required: 17.4.1 One urinal basin with 5 litre white P.V.C. automatic flushing cistern with standard flush pipe and C.P. brass spreaders with brass unions and G.I clamps comple including painting of fittings and brackets, cutting and making good the walls and floors where required: 17.4.1 One urinal basin with 5 litre white P.V.C. automatic flushing cistern 44	42	type W.C with mar complete	. pan) with s nually contro e, including co	eat and lid, lled device (utting and m	10 litre low le handle lever), aking good th	evel white P.V.C. conforming to I	flushing c IS: 7231,	istern, including with all fittings	flush pipe and fixture
urinal basin of 430x260x350 mm and 340x410x265 mm sizes respectively with automatic flush cistern with standard flush pipe and C.P. brass spreaders with brass unions and C.I clamps compleincluding painting of fittings and brackets, cutting and making good the walls and floors where required: 17.4.1 One urinal basin with 5 litre white P.V.C. automatic flushing cistern 44						11102.22	AT Par	11102.22	
44 4.00 Each 2396.88 9587.52 AT Par 9587.52 Description: 17.7 Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting making good the walls wherever require: 17.7.1 White Vitreous China Wash basin size 630x450 with a pair of 15 mm C.P. brass pillar taps 45 4.00 Each 95.82 383.28 AT Par 383.28 Description: 17.28 Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V. waste fittings complete. 17.28.1.1 Semi rigid pipe 32 mm dia 46 4.00 Each 99.2.62 3970.48 AT Par 3970.48 Description: 17.33 Providing and fixing 600x120x5 mm glass shelf with edges round off, suppor on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with mm long screws, rawl plugs etc., complete. 47 4.00 Each 717.27 2869.08 AT Par 2869.08 Description: 17.34 1 C.P. Brass 48 85.00 Metre 1072.59 91170.15 AT Par 91170.15 Description: 17.35 Providing and fixing soil, waste and vent pipes: 13.35 1 1 100 mm dia Sand viron SandS pipe as per IS: 1729 49A 5.00 Each 1690.03 8450.15 AT Par 24536.25 Description: 17.35 2 1.75 mm dia Sand cast iron SandS pipe as per IS: 1729 49A 5.00 Each 1690.03 8450.15 AT Par 8450.15 Description: 17.60 1 1 Providing and fixing trap of self cleansing design with screwed downor hin grating with or without vent arm complete, including cost of cutting and making good the walls floors: 49B 5.00 Each 1760.52 8802.60 AT Par 8802.60 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refiling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, havi	43	urinal ba cistern w including	sin of 430x2 ith standard painting of	260x350 mm flush pipe a fittings and	n and 340x410 nd C.P. brass s brackets, cut	0x265 mm sizes spreaders with b ting and making	respectiverass union good the	vely with automans and G.I clamp be walls and floo	atic flushin s complete
Description:- 17.7 Providing and fixing wash basin with C.I. brackets, 15 mm C.P. brass pillar taps mm C.P. brass waste of standard pattern, including painting of fittings and brackets, cutting making good the walls wherever require: 17.7.1 White Vitreous China Wash basin size 630x450 with a pair of 15 mm C.P. brass pillar taps 45			T		-	Ī			
Description:- 17.28 Providing and fixing P.V.C. waste pipe for sink or wash basin including P.V. waste fittings complete. 17.28.1.1 Semi rigid pipe 32 mm dia 46	44	Descript mm C.P. making g	tion:- 17.7 P brass waste good the wal	roviding and e of standar ls wherever	fixing wash bad pattern, incorrect require: 17.7.	asin with C.I. bra luding painting	ckets, 15 of fittings	mm C.P. brass pi and brackets,	cutting and
waste fittings complete. 17.28.1.1 Semi rigid pipe 32 mm dia 46									
Description:- 17.33 Providing and fixing 600x120x5 mm glass shelf with edges round off, support on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with mm long screws, rawl plugs etc., complete. 47	45	Descript	tion:- 17.28				r sink or v	wash basin inclu	iding P.V.C.
on anodised aluminium angle frame with C.P. brass brackets and guard rail complete fixed with mm long screws, rawl plugs etc., complete. 47				te. 17.28.1.1	. Semi rigid pip	oe 32 mm dia			
Description:- 17 34 1 C.P. Brass 48 85.00 Metre 1072.59 91170.15 AT Par 91170.15 Description:- 17 35 Providing and fixing soil, waste and vent pipes: 13 35 1 1 100 mm dia Sand or iron SandS pipe as per IS: 1729 48A 25.00 Metre 981.45 24536.25 AT Par 24536.25 Description:- 17 35 2 1 75 mm dia Sand cast iron SandS pipe as per IS: 1729 49A 5.00 Each 1690.03 8450.15 AT Par 8450.15 Description:- 17 60 1 1 Providing and fixing trap of self cleansing design with screwed downor hin grating with or without vent arm complete, including cost of cutting and making good the walls floors: 49B 5.00 Each 1760.52 8802.60 AT Par 8802.60 Description:- 17 60 2 1 100 mm inlet and 75 mm outlet Sand cast iron SandS as per IS: 3989 50A 45.00 Metre 233.21 10494.45 AT Par 10494.45 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi		waste fitt 46	ings complet 4.00	Each	992.62	3970.48			
48 85.00 Metre 1072.59 91170.15 AT Par 91170.15 Description:- 17 35 Providing and fixing soil, waste and vent pipes: 13 35 1 100 mm dia Sand of iron SandS pipe as per IS: 1729 48A 25.00 Metre 981.45 24536.25 AT Par 24536.25 Description:- 17 35 2 1 75 mm dia Sand cast iron SandS pipe as per IS: 1729 49A 5.00 Each 1690.03 8450.15 AT Par 8450.15 Description:- 17 60 1 1 Providing and fixing trap of self cleansing design with screwed downor hin grating with or without vent arm complete, including cost of cutting and making good the walls floors: 49B 5.00 Each 1760.52 8802.60 AT Par 8802.60 Description:- 17 60 2 1 100 mm inlet and 75 mm outlet Sand cast iron SandS as per IS: 3989 50A 45.00 Metre 233.21 10494.45 AT Par 10494.45 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi	46	waste fitt 46 Descript on anodi mm long	4.00 tion:- 17.33 sed aluminiu screws, rawl	Each Providing ar ım angle fra	992.62 od fixing 600x1 me with C.P. I complete.	3970.48 120x5 mm glass brass brackets a	shelf with and guard	edges round of rail complete fix	f, supporte xed with 4
Description:- 17 35 Providing and fixing soil, waste and vent pipes: 13 35 1 1 100 mm dia Sand of iron SandS pipe as per IS: 1729 48A		waste fitt 46 Descript on anodi mm long 47	tings complet 4.00 tion:- 17.33 sed aluminiu screws, rawl 4.00	Each Providing ar Im angle fra plugs etc., o Each	992.62 od fixing 600x1 me with C.P. I complete.	3970.48 120x5 mm glass brass brackets a	shelf with and guard	edges round of rail complete fix	f, supporte xed with 4
Description:- 17 35 2 1 75 mm dia Sand cast iron SandS pipe as per IS: 1729 49A 5.00 Each 1690.03 8450.15 AT Par 8450.15 Description:- 17 60 1 1 Providing and fixing trap of self cleansing design with screwed downor hin grating with or without vent arm complete, including cost of cutting and making good the walls floors: 49B 5.00 Each 1760.52 8802.60 AT Par 8802.60 Description:- 17 60 2 1 100 mm inlet and 75 mm outlet Sand cast iron SandS as per IS: 3989 50A 45.00 Metre 233.21 10494.45 AT Par 10494.45 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi		waste fitt 46 Descript on anodi mm long 47 Descript	tion:- 17.33 sed aluminius screws, rawl	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass	992.62 ad fixing 600x1 me with C.P. I complete. 717.27	3970.48 120x5 mm glass brass brackets a 2869.08	shelf with and guard AT Par	edges round of rail complete fix 2869.08	f, supporte xed with 4
49A 5.00 Each 1690.03 8450.15 AT Par 8450.15 Description:- 17 60 1 1 Providing and fixing trap of self cleansing design with screwed downor hin grating with or without vent arm complete, including cost of cutting and making good the walls floors: 49B 5.00 Each 1760.52 8802.60 AT Par 8802.60 Description:- 17 60 2 1 100 mm inlet and 75 mm outlet Sand cast iron SandS as per IS: 3989 50A 45.00 Metre 233.21 10494.45 AT Par 10494.45 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings With one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi	47	waste fitt 46 Descript on anodi mm long 47 Descript 48 Descript	4.00 2.100:- 17.33 sed aluminius screws, rawl 4.00 2.100:- 17.34 85.00 2.100:- 17.35	Each Providing ar Im angle fra plugs etc., Each 1 C.P. Brass Metre Providing an	992.62 ad fixing 600x1 me with C.P. I complete. 717.27	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15	shelf with and guard AT Par AT Par	edges round of rail complete fiz 2869.08 91170.15	f, supporte xed with 4
Description:- 17 60 1 1 Providing and fixing trap of self cleansing design with screwed downor him grating with or without vent arm complete, including cost of cutting and making good the walls floors: 49B	47 48	waste fittl 46 Descript on anodi mm long 47 Descript 48 Descript iron Sano	4.00 tion:- 17.33 sed aluminiu screws, rawl 4.00 tion:- 17 34 85.00 tion:- 17 35	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass Metre Providing an r IS: 1729	992.62 ad fixing 600x3 me with C.P. Icomplete. 717.27 1072.59 ad fixing soil, w	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15 vaste and vent p	AT Par AT Par ipes: 13 3	edges round of rail complete fix 2869.08 91170.15	f, supporte xed with 4 a Sand cas
49B 5.00 Each 1760.52 8802.60 AT Par 8802.60 Description:- 17 60 2 1 100 mm inlet and 75 mm outlet Sand cast iron SandS as per IS: 3989 50A 45.00 Metre 233.21 10494.45 AT Par 10494.45 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi	47 48	waste fitt 46 Descript on anodi mm long 47 Descript 48 Descript iron Sano 48A Descript	4.00 cion:- 17.33 sed aluminius screws, rawl 4.00 cion:- 17.34 85.00 cion:- 17.35 dS pipe as pe 25.00 cion:- 17.35	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass Metre Providing an r IS: 1729 Metre 2 1 75 mm o	992.62 Id fixing 600x1 me with C.P. Is complete. 717.27 1072.59 Id fixing soil, w 981.45 Iia Sand cast in	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe a	AT Par AT Par ipes: 13 3 AT Par as per IS: 1	edges round of rail complete fix 2869.08 91170.15 5 1 1 100 mm di 24536.25 729	f, supporte xed with 4 a Sand cas
Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 508	47 48 48	waste fitt 46 Descript on anodi mm long 47 Descript iron Sano 48A Descript 49A Descript grating w	4.00 2:ion:- 17.33 2:sed aluminius screws, rawl 4.00 2:ion:- 17.34 85.00 2:ion:- 17.35 35.00 2:ion:- 17.35 5.00 2:ion:- 17.35	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass Metre Providing an r IS: 1729 Metre 2 1 75 mm c Each 1 1 Providing	992.62 Id fixing 600x3 me with C.P. Icomplete. 717.27 1072.59 d fixing soil, w 981.45 lia Sand cast in 1690.03 g and fixing tra	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe a 8450.15 ap of self cleansi	AT Par ipes: 13 3 AT Par as per IS: 1 AT Par ng design	edges round of rail complete fix 2869.08 91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do	f, supporte xed with 4 ia Sand cas wnor hinge
Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge. 18 9 1 15 mm nominal outer Pipes 50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi	47 48 48 49	waste fitt 46 Descript on anodi mm long 47 Descript iron Sanc 48A Descript 49A Descript grating w floors: 49B	tion:- 17.33 sed aluminius screws, rawles 4.00 tion:- 17.34 85.00 tion:- 17.35 IS pipe as pe 25.00 tion:- 17.35 5.00 tion:- 17.36 vith or without 5.00	Each Providing ar Im angle fra plugs etc., of Each 1 C.P. Brass Metre Providing an r IS: 1729 Metre 2 1 75 mm of Each 1 1 Providing ut vent arm	992.62 Id fixing 600x1 me with C.P. Is complete. 717.27 1072.59 Id fixing soil, w 981.45 Iia Sand cast in 1690.03 Ig and fixing tra complete, inc	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe a 8450.15 ap of self cleansic luding cost of cu	AT Par ipes: 13 3 AT Par as per IS: 1 AT Par ng design utting and	91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do making good th	f, supporte xed with 4 a Sand cas wnor hinge ne walls an
50B 75.00 Metre 290.00 21750.00 AT Par 21750.00 Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi	47 48 48 49	waste fitt 46 Descript on anodi mm long 47 Descript iron Sano 48A Descript 49A Descript grating w floors: 49B Descript	4.00 tion:- 17.33 sed aluminius screws, rawl 4.00 tion:- 17.34 85.00 tion:- 17.35 IS pipe as pe 25.00 tion:- 17.35 5.00 tion:- 17.60 vith or without	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass Metre Providing an r IS: 1729 Metre 2 1 75 mm c Each 1 1 Providing ut vent arm Each 2 1 100 mm	992.62 Id fixing 600x3 me with C.P. Is complete. 717.27 1072.59 Id fixing soil, w 981.45 Is Sand cast in 1690.03 It gand fixing traccomplete, inceeding	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe a 8450.15 ap of self cleansiculating cost of cu	AT Par as per IS: 1 AT Par ger IS: 1 AT Par as per IS: 1 AT Par as per IS: 1 AT Par as as as a control of the c	91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do making good th 8802.60 andS as per IS: 3	f, supporte xed with 4 a Sand cas wnor hinge he walls an
Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having ther stability for hot and cold water supply including all CPVC plain and brass threaded fittings includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling testing of joints complete as per direction of Engineer in Charge 18 9 2 20 mm nominal outer dia Pi	47 48 48 49	waste fitt 46 Descript on anodi mm long 47 Descript iron Sano 48A Descript grating w floors: 49B Descript 50A Descript stability includes testing o	4.00 tion:- 17.33 sed aluminius screws, rawl 4.00 tion:- 17 34 85.00 tion:- 17 35 dS pipe as pe 25.00 tion:- 17 35 5.00 tion:- 17 60 with or without 5.00 tion:- 17 60 45.00 tion:- 18 9 F for hot and jointing of p	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass Metre Providing an r IS: 1729 Metre 2 1 75 mm o Each 1 1 Providing ut vent arm Each 2 1 100 mm Metre Providing and cold water bipes and fit	992.62 Id fixing 600x3 me with C.P. Is complete. 717.27 1072.59 Id fixing soil, w 981.45 Iia Sand cast in 1690.03 Ig and fixing tra complete, inc 1760.52 Inlet and 75 m 233.21 Id fixing Chlorin supply includitings with one	3970.48 120x5 mm glass brass brackets at 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe at 8450.15 ap of self cleansilluding cost of cut 8802.60 am outlet Sand country 10494.45 nated Polyvinyl Country 10494.50 and all CPVC pie step CPVC soles	AT Par as per IS: 1 AT Par	91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do making good th 8802.60 andS as per IS: 3 10494.45 CPVC) pipes, have ass threaded ent, trenching,	f, supporte xed with 4 a sand cas a sand cas where walls an gray gray gray gray gray gray gray gray
	47 48 48 49	waste fitt 46 Descript on anodi mm long 47 Descript iron Sano 48A Descript grating w floors: 49B Descript 50A Descript stability includes testing o Pipes	### 4.00 ###################################	Each Providing ar Im angle fra plugs etc., o Each 1 C.P. Brass Metre Providing an r IS: 1729 Metre 2 1 75 mm o Each 1 1 Providing ut vent arm Each 2 1 100 mm Metre Providing an cold water oldete as per	992.62 ad fixing 600x3 me with C.P. Is complete. 717.27 1072.59 ad fixing soil, w 981.45 lia Sand cast in 1690.03 g and fixing tra complete, inc 1760.52 inlet and 75 m 233.21 ad fixing Chlorin supply includitings with one direction of E	3970.48 120x5 mm glass brass brackets a 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe a 8450.15 ap of self cleansi luding cost of cu 8802.60 nm outlet Sand cu 10494.45 nated Polyvinyl (solitoring all CPVC pie step CPVC solitoring in Char	AT Par AT Par ipes: 13 3 AT Par as per IS: 1 AT Par as per IS: 1 AT Par as per IS: 1 AT Par cast iron Sa AT Par	91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do making good th 8802.60 andS as per IS: 3 10494.45 CPVC) pipes, havorass threaded ent, trenching, 1 15 mm nomin	f, supporte xed with 40 as a Sand cas where walls an a sand cas fittings Thirefilling an all outer di
	47 48 48 49 49	waste fitt 46 Descript on anodi mm long 47 Descript iron Sanc 48A Descript grating w floors: 49B Descript stability includes testing o Pipes 50B Descript stability includes	tion:- 17.33 sed aluminius screws, rawlescrews, rawlescre	Each Providing ar and angle frageling etc., or Each 1 C.P. Brass Metre Providing and r IS: 1729 Metre 2 1 75 mm or Each 1 1 Providing at vent arm Each 2 1 100 mm Metre Providing and cold water of the providing and fit of the providing and cold water of t	992.62 Id fixing 600x3 me with C.P. Is complete. 717.27 1072.59 Id fixing soil, w 981.45 Iia Sand cast in 1690.03 Ig and fixing tracomplete, ince 1760.52 Inlet and 75 m 233.21 Id fixing Chlorin supply includitings with one direction of E 290.00 Id fixing Chlorin supply includitings with one direction of E	3970.48 3970.48 120x5 mm glass brass brackets at 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe at 8450.15 ap of self cleansilluding cost of cut 8802.60 mm outlet Sand commoutlet Sand com	AT Par AT Par ipes: 13 3 AT Par as per IS: 1 AT Par as per IS: 1 AT Par cast iron Sa AT Par Chloride (Clain and blovent cem age. 18 9 AT Par Chloride (Clain and blovent cem age. 18 9	91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do making good th 8802.60 andS as per IS: 3 10494.45 CPVC) pipes, have a streaded ent, trenching, 1 15 mm nomin 21750.00 CPVC) pipes, have a streaded ent, trenching, 1 15 mm nomin	f, supported xed with 40 xed with 40 xed with 40 xed
	47 48 48 49 49	waste fitt 46 Descript on anodi mm long 47 Descript iron Sano 48A Descript grating w floors: 49B Descript 50A Descript stability includes testing of pipes 50B Descript stability includes testing of	tion:- 17.33 sed aluminius screws, rawlescrews, rawlescre	Each Providing ar and angle frageling etc., or Each 1 C.P. Brass Metre Providing and r IS: 1729 Metre 2 1 75 mm or Each 1 1 Providing at vent arm Each 2 1 100 mm Metre Providing and cold water of the providing and fit of the providing and cold water of t	992.62 Id fixing 600x3 me with C.P. Is complete. 717.27 1072.59 Id fixing soil, w 981.45 Iia Sand cast in 1690.03 Ig and fixing tracomplete, ince 1760.52 Inlet and 75 m 233.21 Id fixing Chlorin supply includitings with one direction of E 290.00 Id fixing Chlorin supply includitings with one direction of E	3970.48 120x5 mm glass brass brackets at 2869.08 91170.15 vaste and vent p 24536.25 ron SandS pipe at 8450.15 ap of self cleansilluding cost of cut 8802.60 am outlet Sand county 10494.45 nated Polyvinyl (19494.45) and all CPVC piestep CPVC solengineer in Charles 11750.00 nated Polyvinyl (19494.45) and Polyvinyl (19494.4	AT Par ipes: 13 3 AT Par ipes: 13 3 AT Par as per IS: 1 AT Par ng design atting and atting atting and atting and atting atting and atting atting and atting att	91170.15 5 1 1 100 mm di 24536.25 729 8450.15 with screwed do making good th 8802.60 andS as per IS: 3 10494.45 CPVC) pipes, have a streaded ent, trenching, 1 15 mm nomin 21750.00 CPVC) pipes, have a streaded ent, trenching, 1 15 mm nomin	f, support xed with a Sand co wnor hing me walls a 989 ving therr fittings T refilling a al outer of

Page 5 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having therma
	stability for hot and cold water supply including all CPVC plain and brass threaded fittings Thi includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling an
	testing of joints complete as per direction of Engineer in Charge 18 9 3 25 mm nominal outer dia Pipe
	50D 100.00 Metre 458.36 45836.00 AT Par 45836.00
50	Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having thermal stability for hot and cold water supply including all CPVC plain and brass threaded fittings. The includes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling an testing of joints complete as per direction of Engineer in Charge. 18 9 4 32 mm nominal outer displayed.
	50E 35.00 Metre 589.16 20620.60 AT Par 20620.60
50	Description:- 18 9 Providing and fixing Chlorinated Polyvinyl Chloride (CPVC) pipes, having therms stability for hot and cold water supply including all CPVC plain and brass threaded fittings Thincludes jointing of pipes and fittings with one step CPVC solvent cement, trenching, refilling an testing of joints complete as per direction of Engineer in Charge. 18 9 5 40 mm nominal outer di Pipes
	51A 45.00 Metre 320.44 14419.80 AT Par 14419.80
51	Description:- 18 10 Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cuttin and making good the walls etc. 18 10 1 15 mm nominal outer dia Pipes
c 1	51B 100.00 Metre 517.51 51751.00 AT Par 51751.00
51	Description:- 18 10 Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cuttin and making good the walls etc. 18 10 3 25 mm nominal outer dia Pipes
	51C 100.00 Metre 593.79 59379.00 AT Par 59379.00
51	Description:- 18 10 Providing and fixing G.I. pipes complete with G.I. fittings and clamps, i/c cuttin and making good the walls etc. 18 10 4 32 mm nominal outer dia Pipes
	52A 15.00 Each 421.01 6315.15 AT Par 6315.15
52	Description:- 17 57 Providing and fixing collar : 17 57 1 1 100 mm Sand cast iron SandS as per IS 1729
	52B 10.00 Each 285.99 2859.90 AT Par 2859.90
52	Description:- 17 57 Providing and fixing collar : 17 57 2 1 100 mm Sand cast iron SandS as per IS 1729
	53 125.00 Metre 471.21 58901.25 AT Par 58901.25
53	Description:- 19 6 Providing and laying non-pressure NP2 class (light duty) R.C.C. pipes with collar jointed with stiff mixture of cement mortar in the proportion of 1:2 (1 cement : 2 fine sand) includin testing of joints etc. complete : 19 6 1 100 mm dia. R.C.C. pipe
	54 4.00 Each 25713.36 102853.44 AT Par 102853.44
54	Description:- 19 7 Constructing brick masonry manhole in cement mortar 1:4 (1 cement : 4 coars sand) with R.C.C. top slab with 1:1.5:3 mix (1 cement : 1.5 coarse sand (zone-III) : 3 graded ston aggregate 20 mm nominal size), foundation concrete 1:4:8 mix (1 cement : 4 coarse sand (zone-III) : graded stone aggregate 40 mm nominal size), inside plastering 12 mm thick with cement mortar 1: (1 cement : 3 coarse sand) finished with floating coat of neat cement and making channels in cemer concrete 1:2:4 (1 cement : 2 coarse sand : 4 graded stone aggregate 20 mm nominal size) finished with a floating coat of neat cement complete as per standard design : 19 7 2 1 Inside size 120x90 crand 90 cm deep including C.I. cover with frame (medium duty) 500 mm internal diameter, total weight of cover and frame to be not less than 116 kg (weight of cover 58 kg and weight of frame 58 kg) : Wit common burnt clay F.P.S. (non modular) bricks of class designation 7.5
	55 2.00 Each 29530.71 59061.42 AT Par 59061.42
55	Description:- 19 32 Making soak pit 2.5 m diameter 3.0 metre deep with 45 x 45 cm dry brick hone comb shaft with bricks and S.W. drain pipe 100 mm diameter, 1.8 m long complete as per standar design. 19 32 1 With common burnt clay F.P.S. (non modular) bricks of class designation 7.5
	56 5.00 Each 398.72 1993.60 AT Par 1993.60
56	Description:- 19 34 Providing and fixing S.W. intercepting trap in manholes with stiff mixture cement mortar 1:1 (1 cement : 1 fine sand) including testing of joints etc. complete : 19 34 1 100 mr dia
	57 150.00 Metre 682.24 102336.00 AT Par 102336.00
	Description:- 23 1 Boring/drilling bore well of required dia for casing/ strainer pipe, by suitable method prescribed in IS: 2800 (part I), including collecting samples from different strata, preparing
57	and submitting strata chart/ bore log, including hire and running charges of all equipments, tools plants and machineries required for the job, all complete as per direction of Engineer-in-charge, upt 90 metre depth below ground level. 23 1 1 2 All types of soil 350mm dia

Page 6 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	Descri	otion:- 23 2	Boring/drilli	na bore well	of required dia	for casing	/ strainer pipe,	by suitable
	method	prescribed in	n IS: 2800 (part I), includi	ng collecting sar	nples fron	n different strata	a, preparing
							es of all equipm	
							tion of Engineer All types of soil 3	
								Summ dia
	59	250.00					289535.00	
59							rtical position in to IS: 12818, in	
							depths, as per	
				m nominal size		-,	, ,	
	60	150.00	cum	1379.13	206869.50	AT Par	206869.50	
60	Descrip	otion:- 23 6 S	upplying, fil	ling, spreading	and leveling gra	evels of size	ze range 5 mm t	o 10 mm, ii
00	the rech	narge pit, ove	er the existir	ng layer of bo	ulders, in require		ss, for all leads	
	complet			neer-in-charge				
	61	75.00		1379.13			103434.75	
61	Descrip	otion:- 23 7 9	Supplying, fi	lling, spreadin	g and leveling c	oarse sand	d of size range 1	5 mm to 2
				hickness over	gravel layer, for	all leads a	and lifts, all com	plete as pe
		n of Engineer		1005.00	1		171 170 70	
	62	250.00					471472.50	
							al position in bor 3.2 mm) mild ste	
6 0							; to IS: 8110, of i	
62							painted with out	
							manufacture, in	
					complete, for al	l depths, a	s per direction o	of Engineer
		je 23 11 2 150		1	T			
	63	150.00					144886.50	
							00 (part I) and IS	
							ond permissible ne till well is fully	
63							thod, measuring	
							nples and gettin	
	approve	ed laboratory,						
	compres							
				s etc., all as pe	er requirement a	nd directio	n of Engineer-in-	
	64	2.00	Each	s etc., all as pe 296.00	er requirement a 592.00	nd directio AT Par	n of Engineer-in- 592.00	charge.
64	64 Descrip	2.00 ption:- 23 13	Each 3 Providing	s etc., all as pe 296.00 and fixing suit	er requirement a 592.00 Table size thread	nd directio AT Par ed mild st	n of Engineer-in- 592.00 eel cap or spot w	charge. velded plate
64	64 Descripto the to	2.00 ption:- 23 13 op of bore we	Each 3 Providing	s etc., all as pe 296.00 and fixing suit	er requirement a 592.00 Table size thread	nd directio AT Par ed mild st	n of Engineer-in- 592.00	charge. velded plate
64	Descripto the to	2.00 otion:- 23 13 op of bore we mm dia	Each 3 Providing ell housing/ c	s etc., all as pe 296.00 and fixing suit casing pipe, re	er requirement a 592.00 able size thread movable as per	AT Par ed mild strequireme	n of Engineer-in- 592.00 eel cap or spot w nt, all complete	charge. velded plate for borewe
	Descripto the to of: 200	2.00 ption:- 23 13 op of bore we mm dia 2.00	Each 3 Providing ell housing/ c Each	s etc., all as pe 296.00 and fixing suit casing pipe, re	592.00 sable size thread movable as per	AT Par ed mild strequireme	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76	velded plate for borewel
65	Descripto the to of: 200 65	2.00 otion:- 23 13 op of bore we mm dia 2.00 otion:- 23 14	Each 3 Providing ell housing/ c Each 3 Providing	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M.	592.00 cable size thread movable as per 3849.76 S. clamp of requ	AT Par ed mild strequireme AT Par irred dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi	velded plate for borewel
	Descripto the to of: 200 65	2.00 otion:- 23 13 op of bore we mm dia 2.00 otion:- 23 14 tubewell as personal series.	Each 3 Providing ell housing/ c Each 3 Providing	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M.	592.00 cable size thread movable as per 3849.76 S. clamp of requ	AT Par ed mild strequireme AT Par irred dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76	velded plate for borewel
65	Descripto the toof: 200 65 Descrippipe of 200 mm	2.00 otion:- 23 13 op of bore we mm dia 2.00 otion:- 23 14 tubewell as proclamp	Each 3 Providing ell housing/ c Each 3 Providing er IS: 2800 (s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi	592.00 cable size thread movable as per 3849.76 S. clamp of required necessary bo	AT Par ed mild strequireme AT Par irred dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz	velded plate for borewe
	Descripto the to of: 200 65 Descrippipe of 1200 mm 66	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00	Each 3 Providing cell housing/ cell housing/ cell housing/ cell housing/ cell housing/ cell housing er IS: 2800 (s etc., all as per 296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi	able size thread movable as per 3849.76 S. clamp of required necessary bo 2500000.00	AT Par ed mild strequireme AT Par irred dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz	velded plate for borewel
65	Descripto the to of: 200 65 Descrippipe of 1200 mm 66	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00	Each 3 Providing cell housing/ cell housing/ cell housing/ cell housing/ cell housing/ cell housing er IS: 2800 (s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi	able size thread movable as per 3849.76 S. clamp of required necessary bo 2500000.00	AT Par ed mild strequireme AT Par irred dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz	velded plate for borewel
65	Descripto the to of: 200 65 Descrippipe of 200 mm 66 Descrip	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00	Each 3 Providing cell housing/ cell housing/ cell housing/ cell housing/ cell housing/ cell housing er IS: 2800 (s etc., all as per 296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi	able size thread movable as per 3849.76 S. clamp of required necessary bo 2500000.00	AT Par ed mild strequireme AT Par irred dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz	velded plate for borewel ng/ housing e complete
65	Descripto the to of: 200 65 Descrippipe of 200 mm 66 Descrip	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2	Each 3 Providing cell housing/ cell housing cell housing/ cell	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR	3849.76 S. clamp of requirement are specified as per spec	AT Par ed mild strequireme AT Par ired dia to its and nur	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz	charge. velded plate for borewel ng/ housing e complete
65 66 S.No.	64 Descripto the tof: 200 65 Descrippipe of 1200 mm 66 Description Item Code	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00 ption:- DSR 2	Each 3 Providing cell housing/	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR	3849.76 S. clamp of requirement are specified as per spec	AT Par ed mild strequireme AT Par ired dia to its and nur	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz	velded plate for borewel ng/ housing e complete Bidding Unit Above
65 66 S.No.	Descripto the to of: 200 65 Descrippipe of 1200 mm 66 Description Litemtode Ule () B-S	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As	Each 3 Providing ell housing/ of Each 3 Providing er IS: 2800 (Lumpsum 021 Any oth Qty Unit	s etc., all as per 296.00 and fixing suitcasing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate	able size thread movable as per 3849.76 S. clamp of require necessary bo 2500000.00 S. 2021 Basic Value	AT Par ed mild strequireme AT Par ired dia to ts and nur AT Par Escl.(%)	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 o the top of casi ts of required siz 2500000.00 Amount 7558892.59	velded plate for borewel ng/ housing e complete Bidding Unit Above
65 66 S.No.	Descripto the tof: 200 65 Descrippipe of 200 mm 66 Description Item Code 1	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty 6chedule-B As 0.10	Each 3 Providing cell housing/	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30	able size thread movable as per 3849.76 S. clamp of required necessary bo 2500000.00 S. 2021 Basic Value	AT Par ired dia to ts and nur AT Par AT Par AT Par AT Par AT Par	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93	echarge. velded plate for borewe ng/ housing e complete Bidding Unit Above Below/Pa
65 66 S.No.	64 Descripto the tof: 200 65 Descrippipe of 200 mm 66 Description Litemtode Ule () B-S 1 Description	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020	Each 3 Providing cell housing/	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing e	able size thread movable as per 3849.76 S. clamp of requirements are 2500000.00 2500000.00 Basic Value 13455.93 mbankment ma	AT Par ired dia to ts and nur AT Par AT Par AT Par AT Par AT Par AT Par nually in	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm	recharge. Welded plate for borewe Ing/ housing e complete Bidding Unit Above Below/Pa height fo
65 66 S.No.	bescription to the troof: 200 65 Descrippipe of 200 mm 66 Description bescription bescr	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling wor	Each 3 Providing cell housing/	s etc., all as per 296.00 and fixing suit casing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing engline to prove	able size thread movable as per 3849.76 S. clamp of requirements are 2500000.00 2500000.00 Basic Value 13455.93 mbankment mayide proper amai	AT Par ired dia to ts and nur AT Par AT Par AT Par AT Par AT Par AT Par nually in Igamation	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o	echarge. velded platifor borewe ng/ housing e complete Bidding Unit Above Below/Pa height fold and nev
65 66 S.No.	64 Descripto the tof: 200 65 Descrippipe of 200 mm 66 Description Item Code 1 Description 1 Description 1	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling workments as per	Each 3 Providing cell housing/ of Each 3 Providing cer IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre 0 Benching ks in running RDSO late	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing ending to provest Specificati	able size thread movable as per 3849.76 S. clamp of requirements are requirement as per 3849.76 S. clamp of requirements are requirements.	AT Par ired dia to ts and nur AT Par BESCI.(%)	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0	Bidding Unit Above Below/Pa height fold and new 10004 to the
65 66 S.No.	64 Descripto the trof: 200 65 Descrippipe of 200 mm 66 Description Item Code 1 Description 1 Descripti	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling workments as persentisfaction of	Each 3 Providing cell housing/ of Each 3 Providing cer IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre 0 Benching ks in running RDSO late of Engineer	s etc., all as per 296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing engline to provest Specificati in-charge. Th	able size thread movable as per 3849.76 S. clamp of requirements are requirement as per 3849.76 S. clamp of requirements are requirements.	AT Par ired dia to ts and nur AT Par AT Par ired dia to ts and nur AT Par AT Par ually in lgamation uprooting	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing	Bidding Unit Above Below/Pa height fold and new of all the
65 66 S.No.	bescription to the troof: 200 65 Descrippipe of 200 mm 66 Description bescription bescr	2.00 ption:- 23 13 op of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as persatisfaction or ion, all lift, definition:- definition.	Each 3 Providing cell housing/ of Each 3 Providing cell housing/ of Each 3 Providing cer IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre of Benching cer RDSO late of Engineer cescends, asc	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing ending to prove the provest Specification in-charge. The ends and add	able size thread movable as per 3849.76 S. clamp of requirements are requirement as per 3849.76 S. clamp of requirements are requirements are requirements are requirements are requirements are requirements and guideling item includes item includes item includes item are requirements are requirements are requirements are requirements are requirements.	AT Par ired dia to ts and nur AT Par AT Par ired dia to ts and nur AT Par AT Par nually in lgamation nes RDSO uprooting required	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to	Bidding Unit Above Below/Pa height fold and new of all the removal of removal of the control o
65 66 S.No.	bescription to the troof: 200 65 Descrippipe of 200 mm 66 Description bescription bescr	2.00 ption:- 23 13 op of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as persatisfaction or ion, all lift, de benching in eat any time	Each 3 Providing cell housing/ of Each 3 Providing cer IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre of Benching ks in running r RDSO late of Engineer cescends, asceptisting banks in seconds of Engineer cescends asceptisting banks in second of Engineer cescends as a second of Engineer cescend of Engineer cescends as a second of Engineer cescend of	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing end in to prove the progress Specification in-charge. The ends and add content in the progress specification in the progress specif	able size thread movable as per 3849.76 S. clamp of requirements are requirement as per 3849.76 S. clamp of requirements are requirements and series and guideling item includes item includes the benching Work series are requirements and series are requirements are guideling work are benching Work are requirements and guideling item includes the requirements are requirements are requirements.	AT Par ired dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er	Bidding Unit Above Below/Pa height fold and new of all the removal of all the removal of another the removal combankment
65 66 S.No.	bescription to the troof: 200 65 Descrippipe of 200 mm 66 Description to the troof: 200 mm 67 Description to the troof: 200 mm 68 Description to the troof: 200 mm 1 Description to the tro	2.00 ption:- 23 13 op of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as persatisfaction or ion, all lift, designed benching in eat any time thing work shall	Each 3 Providing cell housing/ of Each 3 Providing cell housing/ of Each 3 Providing cer IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre 6 Benching ks in running r RDSO late of Engineer cescends, asceptisting banker based on all be certified	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing end in to prove the progress specification in-charge. The ends and add ex. Note: (1)The the progress and recorded and re	able size thread movable as per 3849.76 S. clamp of requirements are requirement as per 3849.76 S. clamp of requirements are requirements and series are requirements and guideling item includes item includes the benching Work are before starting thread and series are requirements and guideling item includes the requirements are requirements and guideling item includes the requirements are requirements are requirements are requirements.	AT Par ired dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er h work. (3)Unit f	Bidding Unit Above Below/Pa height fold and new of all the removal companyment for payment for payme
65 66 S.No.	bescription to the troof: 200 65 Descrippipe of 200 mm 66 Description bescription bescr	2.00 ption:- 23 13 op of bore we mm dia 2.00 ption:- 23 14 tubewell as princlamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as persistaction or ion, all lift, despending in eat any time thing work shall km per metion.	Each 3 Providing ell housing/ of Each 3 Providing er IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre 0 Benching ks in running RDSO late of Engineer escends, asceptisting banker based on all be certifier height of	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing end in to prove the progress and add control of the progress and recorded the Bank. Heil	3849.76 S. clamp of requirement as a series of series and series and guideling item includes item in	AT Par ired dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er h work. (3)Unit feative average h	Bidding Unit Above Below/Pa height fo ld and new of all the removal of mention payment eight of the reight of the region of the removal of
65 66 S.No.	bescription to the troof: 200 65 Description of: 200 mm 66 Description of: 200 mm 66 Description of: 200 mm 67 Description of: 200 mm 68 Description of: 200 mm Code Item Code Item Code Item Code	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as personal lift, despending in eat any time hing work shall km per metal the specified	Each 3 Providing ell housing/ of Each 3 Providing er IS: 2800 (Lumpsum 021 Any oth Qty Unit 4 per USSOR Kilometre 0 Benching ks in running RDSO late of Engineer escends, asceptisting banker based on all be certified re height of km taken fill km taken fill housing the second of km taken fill housing the second of km taken fill km taken fill housing the second of km taken fill km taken fill housing the second of km taken f	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing end in to prove the progress sed and recorded the Bank. Heifrom cross sec	able size thread movable as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirement are recommended as per 3849.76 S. clamp of requirements are recommended as per	AT Par ired dia to to the total state of total state of the total stat	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er h work. (3)Unit for cative average h earthwork. (4)Sir	Bidding Unit Above Below/Pa height for ld and new of all the removal companyment for payment of the return to the rate of th
65 66 S.No.	bescription of the tools and the tools are tools and the tools are	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as personal lift, despending in eat any time hing work shall km per metal the specified searthwork in the specified se	Each 3 Providing ell housing/ of Each 3 Providing er IS: 2800 (Lumpsum 021 Any oth Qty Unit per USSOR Kilometre 0 Benching ks in running RDSO late of Engineer escends, asce existing bank to based on all be certified re height of km taken for steps, payr	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing end in-charge. The ends and add ex. Note: (1)The the progress ed and recorded the Bank. Helfrom cross second the control of the control of the ends and add the control of the ends. Helfrom cross second the control of the ends and recorded the Bank. Helfrom cross second the ends and add the ends and recorded the ends	able size thread movable as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirements are recommended as per 3849.76 S. clamp of requirement are recommended as per 3849.76 S. clamp of requi	AT Par ired dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er h work. (3)Unit feative average h earthwork. (4)Sir completion of e	Bidding Unit Above Below/Pa height for ld and new of all the removal companyment of the restriction of the
65 66 S.No.	bescription of the tools and the tools are tools and the tools are	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as personal lift, despending in eat any time hing work shall km per mett the specified searthwork in el. (5)Cut soil	Each 3 Providing ell housing/ of Each 3 Providing er IS: 2800 (Lumpsum 021 Any oth Qty Unit Sper USSOR Kilometre 0 Benching ks in running RDSO late of Engineer escends, asce existing bank is based on all be certified re height of km taken for steps, payr from bank is	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing end in-charge. The ends and add ex. Note: (1)The the progress ed and recorded the Bank. Helfrom cross second the control of the control of the ends and add the control of the ends. Helfrom cross second the control of the ends and recorded the Bank. Helfrom cross second the ends and add the ends and recorded the ends	able size thread movable as per 3849.76 S. clamp of requirements are recommended as pe	AT Par ired dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er h work. (3)Unit for cative average h earthwork. (4)Sir	Bidding Unit Above Below/Pa height fo ld and new of all the removal
65 66 S.No.	bescription of the tools and the tools are tools and the tools are	2.00 ption:- 23 13 pp of bore we mm dia 2.00 ption:- 23 14 tubewell as proclamp 1.00 ption:- DSR 2 Item Qty Schedule-B As 0.10 ption:- 11020 g/tripling work ments as personal lift, despending in eat any time hing work shall km per mett the specified searthwork in el. (5)Cut soil	Each 3 Providing cell housing/ of Each 3 Providing cer IS: 2800 (Lumpsum 021 Any oth Qty Unit Sper USSOR Kilometre 0 Benching ks in running RDSO late of Engineer cescends, asceixisting banks to based on all be certifier height of the steps, payr from banks direction of	296.00 and fixing suit asing pipe, re 1924.88 and fixing M. part I), includi 2500000.00 er item of DSR Unit Rate 2021 134559.30 of existing ending to provest Specification in-charge. The ends and add control in-charges and recorded the Bank. Helefrom cross seement under the shall not be us Engineer-in-charge.	able size thread movable as per 3849.76 S. clamp of requirements are 2500000.00 S. 2021 Basic Value 13455.93 mbankment mayide proper amaons and guideling eitem includes itional earthwork steed before starting the here means itional measurents item shall be red in embankment maye.	AT Par ired dia to	n of Engineer-in- 592.00 eel cap or spot w nt, all complete 3849.76 the top of casi ts of required siz 2500000.00 Amount 7558892.59 13455.93 steps of 30 cm between the o /2020//GE: IRS-0 g and disposing for filling due to one for a maximum n toe of the er h work. (3)Unit feative average h earthwork. (4)Sir completion of e	Bidding Unit Above, Below/Pal height for lid and new of all the removal or maken the rate earthwork to the r

Page 7 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	Description:- 11030 Earthwork in filling in embankment, guide bunds, around buried type
	abutments, bridge gaps, trolley refuges, platforms etc. with contractor's own earth conforming to Soil
	Quality Class SQ1/SQ2/SQ3, after preparation of foundations as applicable, benching in existing banks
2	wherever required, spreading in layers with motor grader, bringing the moisture content to OMC,
2	mechanical compaction to specified density and dressing of bank to final profile as per RDSO
	Specifications: RDSO/2020/GE: IRS-0004 with latest correction slips. Note: 1)Foundation preparation,
	Benching including additional earthwork on account of this, wherever required, shall be paid extra
	under relevant schedule item for benching. 2)Payment for Earthwork under this item shall be made
	based on the cross section measurements calculated (i) with original ground profile of existing bank
	based on initial ground levels before doing benching and (ii) final profile of the bank worked out with
	final levels as per prevailing guidelines. 011031 Using Soil Class SQ1
	2B 4000.00 cum 335.82 1343280.00 AT Par 1343280.00
	Description:- 11030 Earthwork in filling in embankment, guide bunds, around buried type
	abutments, bridge gaps, trolley refuges, platforms etc. with contractor's own earth conforming to Soil
	Quality Class SQ1/SQ2/SQ3, after preparation of foundations as applicable, benching in existing banks
	wherever required, spreading in layers with motor grader, bringing the moisture content to OMC,
_	mechanical compaction to specified density and dressing of bank to final profile as per RDSO
2	Specifications: RDSO/2020/GE: IRS-0004 with latest correction slips. Note: 1)Foundation preparation,
	Benching including additional earthwork on account of this, wherever required, shall be paid extra
	under relevant schedule item for benching. 2)Payment for Earthwork under this item shall be made
	based on the cross section measurements calculated (i) with original ground profile of existing bank
	based on initial ground levels before doing benching and (ii) final profile of the bank worked out with
	final levels as per prevailing guidelines. 011032 Using Soil Class SQ2
	3 1500.00 cum 2158.95 3238425.00 AT Par 3238425.00
	Description:- 12030 Mechanical manufacturing of blanketing material by using only hard and
	durable stone crushed in mechanical crusher to different gradations, wet mixing of the same in
	designed proportion in Pug mill or wet mix plant to have uniform gradation including all incidental
3	transportation, laying over finished formation in uniform layer(s) with motor grader, compaction with
	suitable vibratory roller to specified density and finishing to correct profile, complete as per RDSO
	Specification No. RDSO/2020/GE: IRS-0004 with latest correction slips. Note: This item shall be used
	only when entire constituent of blanketing material is mechanically manufactured by crushing of hard
	and durable stone into desired gradation of designed proportion
	4 300.00 cum 48.02 14406.00 AT Par 14406.00
	Description:- 123030 Spreading of ballast, from existing stacks available along formation on top or
	at cess, in required uniform thickness, compaction of ballast layer laid on new formation at all the
	locations with smooth wheeled power roller of 8-10 tonne capacity to sufficient number of passes to
4	form consolidated ballast bed of approximately 250mm thickness to a width of 4m symmetrical to
	centre line of proposed track in correct line and level with all ascents and descents, as directed by
	Engineer in-charge. Note: Item is inclusive of (a) providing ramp for taking roller to formation and
	removing the same and making good formation after completion of work; (b) redistribution and
	leveling of excess ballast while rolling to obtain uniform plane cambered surface.
	5 50.00 Each 2512.18 125609.00 AT Par 125609.00
	Description: - 091000 Supply of Alumino Thermic Welding Portions 091010 Manufacturing and Supply
	of Alumino thermic welding portions of 52Kg/60 Kg/60El-R260 as approved by RDSO for welding of
	rails 52Kg/60Kg/60El-R260 kg for 25mm gap by the process of AT welding along with complete
_	accessories confirming to the specification laid down in Indian Railway Standard specification No.IRST-
5	19-2020 up to date correction slips with Single shot crucible fitted with Automatic Tapping Thimble, 3
	pieces pre fabricated mould (Zircon washed) manually pressed using compressed air petrol/LPG pre
	heating for execution of welding of rail joint as directed by the engineer in charge at site. Note: 1.The
	accessories along with welding portion shall be supplied as per Annexure-I of the IRUSSOR - 2021.
	2.Rate is inclusive of transportation of above to SSE/P.Way stores. 91011 For 60Kg 90 UTS Rails
	6 50.00 Each 4704.75 235237.50 AT Par 235237.50
	Description:- 092010 25mm gap 'in-situ' welding during traffic block and finishing of weld to meet
	the prescribed tolerances and pass all stipulated tests with all required labour, materials,
	consumables, tools, equipments etc. to complete the work in all respect as per IR's "Manual for Fusion
	Welding of Rails by Alumino - Thermic Process" with latest correction slips, including marking of
	welded joint, painting weld collar with anticorrosive paint, restoration of track near weld joint to
1	original position and fixing of joggled fish plate at new weld, to be removed after passing of weld in
6	USFD test as directed by Engineer in charge. Note: 1. Welding shall be carried out only by trained
6	USFD test as directed by Engineer in charge. Note: 1.Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3
6	USFD test as directed by Engineer in charge. Note: 1.Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto
6	USFD test as directed by Engineer in charge. Note: 1.Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto tapping thimble and Compressed Air Petrol/LPG preheating technique as per RDSO Specification No
6	USFD test as directed by Engineer in charge. Note: 1. Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto tapping thimble and Compressed Air Petrol/LPG preheating technique as per RDSO Specification No IRST/19-2020 with latest amendment. 2. Hydraulic Weld trimmer shall be used for chipping and profile
6	USFD test as directed by Engineer in charge. Note: 1.Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto tapping thimble and Compressed Air Petrol/LPG preheating technique as per RDSO Specification No IRST/19-2020 with latest amendment. 2.Hydraulic Weld trimmer shall be used for chipping and profile Grinder for finishing. 3.Only required nos. of Joggled fish plates shall be supplied by Railway at
6	USFD test as directed by Engineer in charge. Note: 1. Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto tapping thimble and Compressed Air Petrol/LPG preheating technique as per RDSO Specification No IRST/19-2020 with latest amendment. 2. Hydraulic Weld trimmer shall be used for chipping and profile Grinder for finishing. 3. Only required nos. of Joggled fish plates shall be supplied by Railway at nearest P. Way Stores and the same shall be returned at nearest P. Way Store or at other location as
6	USFD test as directed by Engineer in charge. Note: 1.Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto tapping thimble and Compressed Air Petrol/LPG preheating technique as per RDSO Specification No IRST/19-2020 with latest amendment. 2.Hydraulic Weld trimmer shall be used for chipping and profile Grinder for finishing. 3.Only required nos. of Joggled fish plates shall be supplied by Railway at nearest P. Way Stores and the same shall be returned at nearest P. Way Store or at other location as per direction of Engineer- in-Charge after release from track. All other items required shall be supplied
6	USFD test as directed by Engineer in charge. Note: 1.Welding shall be carried out only by trained welder having valid competency certificate using RDSO approved Alumino Thermit Welding Portions, 3 piece prefabricated mould (ZIRCON WASHED) manually pressed, Single shot crucible fitted with auto tapping thimble and Compressed Air Petrol/LPG preheating technique as per RDSO Specification No IRST/19-2020 with latest amendment. 2.Hydraulic Weld trimmer shall be used for chipping and profile Grinder for finishing. 3.Only required nos. of Joggled fish plates shall be supplied by Railway at

Page 8 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	Derailin	g switches wi	th 52Kg / 60	Kg rail section	on PSC sleepers	onprepar	ding diamond co ed ballast bed fo wing, duly leadir	r New lines	
7	rails,swi housing ballast a one rou	tches, crossing of tongue raid asrequired, ling and of packing	ngs, fastening ils as per rec nking of turne g to make tra	gs including ra quirement ofsi out with track, ack fit for 20k	il cutting, drilling gnaling, preparir attending track	g, fixing of ng ballast paramete uding lubri	allcomponents, bed, filling and sersincluding lifting cation of fittings	fittings with preading of g, providing	
	7B	2.00	Set	9562.58			19125.16		
7	Descrip Derailing or durin rails,swi	otion:- 72040 g switches wir g total closur tches, crossin	Laying and th 52Kg / 60 e of section ngs, fastening	d linking of to Kg rail section atindicated loo gs including ra	urnouts of all ty on PSC sleepers cation as per sta il cutting, drilling	pes includes onprepare dragger	ding diamond cred ballast bed fow wing, duly leading allcomponents,	or New lines ng sleepers, fittings with	
	housing of tongue rails as per requirement ofsignaling, preparing ballast bed, filling and spreading ballast asrequired, linking of turnout with track, attending track parametersincluding lifting, providir one round of packing to make track fit for 20kmph speed including lubrication of fittings/fastening complete asdirected by Engineer in-charge. 72046 Derailing Switch								
8	8 Descrip	1.00 ption:- USSOF	Lumpsum R 2021 Any o	1000000.00 other item of U		AT Par	1000000.00		
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit	
Schedu	ule () C-S			tems for Track			32638053.00	Above/ Below/Par	
_	1	300.00		1995.00			598500.00		
1	manuar	i under juridic	tion of PRYJ(W)			st of 65mm Gau	ige at New	
3			Each Supply of C	26600.00 2-Track embed			3724000.00 g supervision c	harges for	
4	execution 4	2.00	Numbers	541236.50		AT Par	1082473.00		
	Descrip	otion:- NS4 S		ngs for inspect	ion pit track	T T			
			Track						
5	5	140.00	metre	17500.00		AT Par	2450000.00		
5			metre onstruction o	17500.00 of embedded t		AT Par	2450000.00		
6	Descrip	ption:- NS5 C	metre onstruction o Track metre	of embedded to 276000.00	rack 16560000.00		2450000.00 16560000.00		
	Descrip	otion:- NS5 C 60.00 otion:- NS6 Ti	metre onstruction o Track metre rack linking v	of embedded to 276000.00 work - for inspe	nack 16560000.00 ection pit	AT Par	16560000.00		
	Descrip 6 Descrip 7 Descrip	60.00 tion:- NS6 To 4.00 otion:- NS7 S	metre onstruction of Track metre rack linking v Set Gupply of 1 i	of embedded to 276000.00 work - for inspe 2055770.00 n 8.5 turnout	16560000.00 ection pit 8223080.00	AT Par		ssings, lead	
6 7	Descrip 6 Descrip 7 Descrip rails, fas	60.00 tion:- NS6 To 4.00 ption:- NS7 Setening and fit	metre onstruction of Track metre rack linking v Set Supply of 1 i	of embedded to 276000.00 work - for inspe 2055770.00 n 8.5 turnout eepers.	rack 16560000.00 ection pit 8223080.00 including tongu	AT Par AT Par e rail, sto	16560000.00 8223080.00 ck rail, CMS cros		
6	Descrip 6 Descrip 7 Descrip	60.00 tion:- NS6 To 4.00 otion:- NS7 S	metre onstruction of Track metre rack linking v Set Gupply of 1 i	of embedded to 276000.00 work - for inspe 2055770.00 n 8.5 turnout	rack 16560000.00 ection pit 8223080.00 including tongu	AT Par	16560000.00	Bidding Unit	
6 7 S.No.	Descrip 7 Descrip rails, fas	otion:- NS5 Contion:- NS6 To 4.00 otion:- NS7 Stening and fit Item Qty	metre onstruction of Track metre rack linking v Set Supply of 1 ittings and sle Qty Unit s per DSR E a	of embedded to 276000.00 work - for inspe 2055770.00 n 8.5 turnout eepers. Unit Rate	16560000.00 ection pit 8223080.00 including tongu Basic Value rical works	AT Par e rail, sto	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40	Bidding Unit Above/	
6 7 S.No.	Descrip 6 Descrip 7 Descrip rails, fas Item Code ule () D-S	60.00 ption:- NS6 To 4.00 ption:- NS7 Setening and fit Item Qty Schedule-D As 125.00	metre onstruction of Track metre rack linking v Set Gupply of 1 ittings and sle Qty Unit sper DSR E a	of embedded to 276000.00 work - for inspect 2055770.00 n 8.5 turnout eepers. Unit Rate and M for Elect 1015.00	16560000.00 ection pit 8223080.00 including tongu Basic Value rical works 126875.00	AT Par e rail, sto	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40 126875.00	Bidding Unit Above/ Below/Par	
6 7 S.No.	Descrip 6 Descrip 7 Descrip rails, fas Item Code 1A Descrip 1.5 sq.n PVC cor	otion:- NS5 Contion:- NS6 To 4.00 otion:- NS7 Stening and fit Item Qty Schedule-D As 125.00 otion:- DSR-Emm FRLS PVC induit, with mercus processing in the processing of the	metre onstruction of Track metre rack linking v Set Gupply of 1 ittings and sle Qty Unit sper DSR E a Point EandM -1.10 insulated co odular switce	of embedded to 276000.00 work - for inspectors 2055770.00 n 8.5 turnout eepers. Unit Rate and M for Elect 1015.00 Wiring for light pper conductors, modular plectors	ack 16560000.00 ection pit 8223080.00 including tongu Basic Value rical works 126875.00 t point/ fan point r single core catate, suitable GI	AT Par e rail, stor Escl.(%) AT Par c/ exhaust ble in surfatox and	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40	Bidding Unit Above/ Below/Par Il point with edium class nt with 1.5	
6 7 S.No. Schedu	Descrip 6 Descrip 7 Descrip rails, fas Item Code 1A Descrip 1.5 sq.n PVC cor sq.mm	otion:- NS5 Contion:- NS6 To 4.00 otion:- NS7 Stening and fit Item Qty Schedule-D As 125.00 otion:- DSR-Emm FRLS PVC induit, with mercus processing in the processing of the	metre onstruction of Track metre rack linking v Set Gupply of 1 ittings and sle Qty Unit sper DSR E a Point EandM -1.10 insulated co odular switce	of embedded to 276000.00 work - for inspectors 2055770.00 n 8.5 turnout eepers. Unit Rate and M for Elect 1015.00 Wiring for light pper conductors, modular plectors	ack 16560000.00 ection pit 8223080.00 including tongu Basic Value rical works 126875.00 t point/ fan point r single core catate, suitable Glingle core cable	AT Par e rail, store Escl.(%) AT Par / exhaust ole in surfation and etc. as re	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40 126875.00 fan point/ call be ace / recessed mearthing the point	Bidding Unit Above/ Below/Par Il point with edium class nt with 1.5	
6 7 S.No. Schedu	Descrip 7 Descrip rails, fas Item Code 1A Descrip 1.5 sq.n PVC cor sq.mm is Group A 1B Descrip 1.5 sq.n PVC cor	otion:- NS5 Contion:- NS6 To 4.00 otion:- NS7 Stening and fit Item Qty Schedule-D As 125.00 otion:- DSR-Emm FRLS PVC instructions of the property of the prop	metre onstruction of Track metre rack linking v Set Supply of 1 i ttings and sle Qty Unit sper DSR E a Point andM -1.10 insulated co odular switc ulated coppe Point andM -1.10 insulated co odular switc ulated coppe	of embedded to 276000.00 work - for inspectors 2055770.00 n 8.5 turnout eepers. Unit Rate Ind M for Electors 1015.00 Wiring for lighty pper conductor side of the conductor	Basic Value rical works 126875.00 t point/ fan point r single core cable 147750.00 t point/ fan point r single core cable 147750.00 t point/ fan point r single core cable	AT Par e rail, store Escl.(%) AT Par / exhaust ble in surfate. as re AT Par / exhaust	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40 126875.00 fan point/ call be ace / recessed mearthing the point quired. DSR- Ear	Bidding Unit Above/Below/Par Il point with edium class nt with 1.5 ndM -1.10-1 Il point with edium class nt with 1.5 ndM -1.10-1	
6 7 S.No. Schedu	Descrip 7 Descrip rails, fast ltem Code 1A Descrip 1.5 sq.n PVC cor sq.mm I Group A 1B Descrip 1.5 sq.n PVC cor sq.mm I records sq.mm I	otion:- NS5 Contion:- NS6 To 4.00 otion:- NS7 Stening and fit Item Qty Schedule-D As 125.00 otion:- DSR-Emm FRLS PVC instructions of the property of the prop	metre onstruction of Track metre rack linking v Set Supply of 1 i ttings and sle Qty Unit sper DSR E a Point andM -1.10 insulated co odular switc ulated coppe	of embedded to 276000.00 work - for inspectors 2055770.00 n 8.5 turnout eepers. Unit Rate Ind M for Electors 1015.00 Wiring for lighty pper conductor side of the conductor	Basic Value rical works 126875.00 t point/ fan point r single core cable 147750.00 t point/ fan point r single core cable 147750.00 t point/ fan point r single core cable	AT Par e rail, stor Escl.(%) AT Par c/ exhaust ble in surfated etc. as re AT Par c/ exhaust	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40 126875.00 fan point/ call be ace / recessed mearthing the poin quired. DSR- Ear 147750.00 fan point/ call be ace / recessed mearthing the poin acces / recessed meanthing / rece	Bidding Unit Above/Below/Par Il point with edium class nt with 1.5 ndM -1.10-1 Il point with edium class nt with 1.5 ndM -1.10-1	
6 7 S.No. Schedu	Descrip 7 Descrip rails, fas Item Code 1A Descrip 1.5 sq.n PVC cor sq.mm Group A 1B Descrip 1.5 sq.n PVC cor sq.mm Group B 2 Descrip copper switch,	otion:- NS5 Contion:- NS6 To 4.00 otion:- NS7 Stening and fit Item Qty Schedule-D As 125.00 otion:- DSR-Em FRLS PVC inside the property of th	metre onstruction of Track metre rack linking v Set Supply of 1 i tings and sle Qty Unit sper DSR E a Point andM -1.10 insulated co odular switc ulated coppe Point andM -1.10 insulated co odular switc ulated coppe Point andM -1.10 insulated co odular switc ulated coppe Point andM -1.10 insulated co odular switc ulated coppe Point andM -1.10 insulated co odular switc ulated coppe Point andM -1.10 insulated co odular switc ulated coppe	work - for inspections of embedded to 276000.00 work - for inspections of the construction of the constru	Basic Value 165675.00 Trical works 126875.00 To point/ fan point or single core cable or	AT Par e rail, store Escl.(%) AT Par c/ exhaust ble in surfate. as re AT Par c/ exhaust ble in surfate. as re AT Par int with 1.5 Lum class F	16560000.00 8223080.00 ck rail, CMS cros Amount 3216599.40 126875.00 fan point/ call be ace / recessed mearthing the point of the p	Bidding Unit Above/Below/Par Il point with edium class nt with 1.5 ndM -1.10-1 Ill point with edium class nt with 1.5 ndM -1.10-2	

Page 9 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

3	following size	s of FRLS	PVC insulat	ed copper cor	nductor, single co	ore cable i	ngwith earth wi n surface/ recess 5 sq.mm earth wi	sed medium
		1500.00	Metre	275.00			412500.00	
3	Description following size	:- DSR- E	andM -1.14 PVC insulat	Wiring for c	ircuit/ submain nductor, single co	wiring ald ore cable i	ngwith earth wi n surface/ recess 5 sq.mm earth wi	sed medium
	3C	500.00	Metre	334.00	167000.00	AT Par	167000.00	
3	following size	s of FRLS	PVC insulat	ed copper cor		ore cable i	ngwith earth wing surface/ recess	
	3D	250.00	Metre	439.00		AT Par	109750.00	
3	following size	:- DSR- E	andM -1.14 PVC insulat	Wiring for c	ircuit/ submain nductor, single co	ore cable i	ngwith earth wi n surface/ recess q. mm earth wire	sed medium
	3E	500.00	Metre	1005.00	502500.00	AT Par	502500.00	
3	following size	s of FRLS	PVC insulat	ed copper cor	nductor, single co	ore cable i	ngwith earth wi n surface/ recess 6 sq. mm earth v	sed medium
	4A	10.00	Each	209.00			2090.00	
4	surface or in	recess wit	th suitable s	size of phenoli		et cover in	wing sizes (nomi front including p	
	4B	5.00	Each	216.00	1080.00	AT Par	1080.00	
4	surface or in	recess wit	th suitable s	size of phenoli		et cover in	wing sizes (nomi front including p	
	5A	15.00	Each	197.00	2955.00		2955.00	
5	exesting mo	dular plat	e and swit		ing connections		odular swich/soc uding modular p	
	5B	30.00	Each	148.00		AT Par	4440.00	
5	exesting mo	dular plat	e and swit		ing connections		odular swich/soc uding modular p	
	6	35.00	Each	369.00	12915.00	AT Par	12915.00	
6							type electronic fa xcluding modula	
	7	25.00	Each	40.00				
7				Supplying ar odular plates a 298.00	as required.		ate on the exesti	ng modular
8	I						22350.00	
	8B	10.00	Each	343.00	ule (75mmX75m 3430.00	AT Par	3430.00	
8					3430.00 125mmX75mm)	Al Fai	3430.00	
	9A	75.00	Each	.3 4 Module (133.00		AT Par	9975.00	
9					ule (75mmX75m		3313.00	
	9B	10.00	Each	158.00		AT Par	1580.00	
9	Description				1500.00	, ti i ui	1500.00	
	10	125.00	Each	477.00	59625.00	AT Par	59625.00	
10	Description cover in front	:- DSR- E t on surfa	and M -1.3 ce or in rec	1 Supplying a	nd fixing suitabl providing and fix	e size GI	box with modula 5/6 A modular s	
	11	50.00	Each	586.00	29300.00	AT Par	29300.00	
11	cover in fron	t on surfa	ace or in re	cess, including		fixing 6 p	box with modula in 5/6 and 15/16	
	12	25.00	Each	87.00	2175.00	AT Par	2175.00	
12				Supplying an ections etc. as		A ceiling	rose on the exist	ing junction

Page 10 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	13	10.00	Each	727.00	7270.00	AT Par	7270.00
13							box wih modular plate and
					roviding and fixir s, painting etc. as		nodular socket outlet and 25
	14	1.00	Each	2573.00	2573.00	AT Par	2573.00
							gle pole and neutral, sheet
14							ned copper bus bar, neutral
					wder painted inc 28 way , Double		rthing etc. as required. (But
	15	3.00	Each	5967.00	17901.00	AT Par	17901.00
1.5							rizontal type three pole and
15							omplete with tinned copper nted including earthing etc.
							+ 24), Double door
	16A	50.00	Each	256.00	12800.00	AT Par	12800.00
16							A rating, 240/415 V, 10 kA, g poles in the existing MCB
							ired. DSR- E and M -2.10.1
	Single pole						
	16B	3.00	Each	656.00	1968.00	AT Par	1968.00
16							ting, 240/415 V, 10 kA, "C" oles in the existing MCB DB
	complete w						SR- E and M -2.10.2 Double
	pole	F 00		1024.00	5170.00	AT D	F170.00
	17 Description	5.00	Each	1034.00	5170.00	AT Par	5170.00 four pole, 415 V, isolator in
17		MCB DB c					ing etc. as required. DSR- E
	18	10.00	Each	2028.00	20280.00	AT Par	20280.00
					i		double pole, (single phase
18	and neutral), 240 V, re	esidual curre	ent circuit brea	ker (RCCB), havi	ng a sens	sitivity current 30 mA in the
	existing MC M -2.14.1 25		olete connec	tions, testing a	and commissioni	ng etc. a	s required. with DSR- E and
	19A	2.00	Each	3188.00	6376.00	AT Par	6376.00
10							four pole, (three phase and
19							sitivity current 30 mA in the etc. as required. DSR- E and
	M -2.15.2 40	0A			9 aa co	g	201 d3 10quii 001 2011 2 uii 0
	19B	8.00	Each	2872.00	22976.00	AT Par	22976.00
19							four pole, (three phase and sitivity current 30 mA in the
							etc. as required. DSR- E and
	M -2.15.3 63						
	20	2.00	Each	1169.00	2338.00	AT Par	2338.00
20							nclosure on surface/ recess testing and commissioning
	etc. as requ					,	
	21	2.00	Each	1592.00	3184.00	AT Par	3184.00
21	Description	n:- DSR- E	and M -2.1	7 Supplying an	nd fixing TP shee	et steel e	nclosure on surface/ recess, testing and commissioning
	etc. as requ		415 V C C	uive ir MCB C	omplete with cor	mections	, testing and commissioning
	22	5.00	Each	269.00	1345.00	AT Par	1345.00
22							ce plate of 200 mm X 150
				z mm tnick, a front side as re		meied wr	nite on both sides, and with
	23	2.00	Each	832.00	1664.00	AT Par	1664.00
23							oose wire Box) suitable for
							0 volts, on surface / recess, 2 DSR- E and M -2.23.2
	24	5.00	Each	1340.00	6700.00	AT Par	6700.00
							oose wire Box) suitable for
24	following tri	iple pole ar	nd neutral ,	sheet steel, M	ICB distribution b	ooard, 41	5 volts, on surface / recess,
	complete w		commission	iing etc. as req	juirea. DSR- E ar	ıa M -2.2	4.3 For, 8 way Double Door
l							

Page 11 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

25	25A	5.00	Each	7723.00	38615.00	AT Par	38615.00	
25	Descrip	tion:- DSR- E	and M -2.2.	.13 100 A,30K	A,FPMCCB			
25	25B	2.00	Each	8209.00	16418.00	AT Par	16418.00	
23	Descrip	tion:- DSR- E	and M -2.2.	.14 125 A,36KA	A,FPMCCB			
25	25C	1.00	Each	15206.00	15206.00	AT Par	15206.00	
23	Descrip	tion:- DSR- E	and M -2.2.	.15 200 A,36KA	A,FPMCCB			
25	25D	1.00				AT Par	17510.00	
23	Descrip	tion:- DSR- E	and M -2.2.	.16 250 A,36KA	A,FPMCCB			
25	25E	1.00	Each	43092.00		AT Par	43092.00	
	•			.19 630 A,50K				
25	25E	2.00		4996.47		AT Par	9992.94	
	_			CT Ratio 1/200				
25	25F	1.00	Each			AT Par	5430.01	
				CT Ratio 1/400				
25	25G	1.00			l .	AT Par	6073.88	
	-			CT Ratio 1/800				
	25H	10.00		875.67	8756.70	AT Par	8756.70	
25				rating rotary ounting cat-III	handle with pad	lock with	three position	trip,off,on
	251	1.00	Each	1313.50	1313.50	AT Par	1313.50	
25					handle with pad			trin off on
				nounting cat-II		TOCK WICH	tinee position	tiip,011,011
	25]	2.00	Each	2120.49		AT Par	4240.98	
25	<u> </u>	otion:- (B) Loc	ckable Trip P	Push Button Ty	pe A,B,C,D		l -	
	25K	2.00		9598.03	·	AT Par	19196.06	
25		otion:- (C) Loc	ckable Trip F	Push Button Kit				
	25L	1.00	Each	2172.00		AT Par	2172.00	
25				in Any Positio		-		
	25M	1.00	Each	4017.78		AT Par	4017.78	
25	Descrip	otion:- (F) Rad	cking Inter L	ock	<u> </u>		L	
	25N	1.00	Each	2172.00	2172.00	AT Par	2172.00	
25	Descrip	otion:- (F) Rad	cking Inter L	ock		I		
	250	8.00	Sqm	10499.44	83995.52	AT Par	83995.52	
25	Descrip	otion:- (A) loc	ally fabricat	ed panel board	d (i) with 350 mm	depth		
	25P	6.00	Sqm	27214.45	163286.70	AT Par	163286.70	
25	Descrip	otion:- (A) loc	ally fabricate	ed panel board	d (iv) with 1000 m	m. depth		
	25Q	2.00	Sqm	14929.31	29858.62	AT Par	29858.62	
25	Descrip	otion:- (A) loc	ally fabricat	ed panel board	d (ii) With 550 mm	n. Depth		
	25R	2.00	RM	1038.78	2077.56	AT Par	2077.56	
25	Descrip	otion:- (B) Su	itable for 20	0 Amp. Capaci	ty			
	25S	1.00	RM	1472.32	1472.32	AT Par	1472.32	
25	Descrip	otion:- (C) Su	itable for 30	0 Amp. Capaci	ty	l	<u> </u>	
	25T	1.00	RM	3069.13	3069.13	AT Par	3069.13	
25	Descrip	otion:- (E) Sui	itable for 63	0 Amp. capacit	y	I		
	25U	2.00	RM	7979.75	15959.50	AT Par	15959.50	
25	Descrip	otion:- (G) Su	itable for 12	00 Amp.capac	ity	<u> </u>	<u> </u>	
	26	8.00	Each	7472.00	59776.00	AT Par	59776.00	
26	includin	g accessories	, and provid	ing masonry e	n G.I. earth plate enclosure with cov narcoal/ coke and	er plate h	aving locking arı	
-	27	1.00	Each	13838.00		AT Par	13838.00	
27	Descrip includin and wat	otion:- DSR -l g accessories ering pipe of i	EandM -5-6 , and provid 2.7 metre lo	Earthing with ing masonry e nq etc. with ch	copper earth platencies con nclosure with counarcoal/ coke and	te 600 mm ver plate h salt as req	X 600 mm X 3 aving locking ari uired.	
	28	30.00		51.00		AT Par	1530.00	
28					l laying 6 SWG G nnection/ termina			

Page 12 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	29 6.00 Metre 1162.00 6972.00 AT Par 6972.00
29	Description:- DSR -EandM -5-14 Providing and fixing 25 mm X 5 mm copper strip on surface or
	recess for connections etc. as required.
	30 40.00 Metre 244.00 9760.00 AT Par 9760.00
30	Description:- DSR -EandM -5-15 Providing and fixing 25 mm X 5 mm G.1. strip on surface or in recent for connections etc. as required.
	31 10.00 Metre 70.00 700.00 AT Par 700.00
31	Description:- DSR -EandM -5-16 Providing and fixing 6 SWG dia G.I. wire on surface or in recess folloop earthing as required.
	32A 40.00 Metre 604.00 24160.00 AT Par 24160.00
32	Description:- DSR-E and M 4-1 Supplying and installing following size of perforated painted with powder coating M.S. cable trays with perforation not more than 17.5percent, in convenient sections joined with connectors, suspended from the ceiling with M.S. suspenders including bolts and nuts painting suspenders etc. as required. DSR-E and M 4-1-2 150 mm width x 50 mm depth x 1.6 mm thickness
	32B 25.00 Metre 777.00 19425.00 AT Par 19425.00
32	Description:- DSR-E and M 4-1 Supplying and installing following size of perforated painted wit powder coating M.S. cable trays with perforation not more than 17.5percent, in convenient sections joined with connectors, suspended from the ceiling with M.S. suspenders including bolts and nuts painting suspenders etc. as required. DSR-E and M 4-1-4 300 mm width x 50 mm depth x 1.6 mit thickness
	33A 100.00 Metre 200.00 20000.00 AT Par 20000.00
33	Description:- DSR-E and M 7-3 Laying of one number of PVC insulated and PVC sheathed / XLF Power cable of 1.1 kv grade of folloeing size direct in ground including excavation, refilling the trendetc as required, but excluding sand cushioning and protective covering. DSR-E and M 7-3-1 Upto 3 sq. mm
	33B 35.00 Metre 217.00 7595.00 AT Par 7595.00
33	Description:- DSR-E and M 7-3 Laying of one number of PVC insulated and PVC sheathed / XLF Power cable of 1.1 kv grade of folloeing size direct in ground including excavation, refilling the trendetc as required, but excluding sand cushioning and protective covering. DSR-E and M 7-3-2 Above 3 sq. mm and upto 95 sq. mm
	33C 25.00 Metre 287.00 7175.00 AT Par 7175.00
33	Description:- DSR-E and M 7-3 Laying of one number of PVC insulated and PVC sheathed / XLF Power cable of 1.1 kv grade of folloeing size direct in ground including excavation, refilling the trend etc as required, but excluding sand cushioning and protective covering. DSR-E and M 7-3-4 DSR-E and M 7-3-4
	34A 25.00 Metre 126.00 3150.00 AT Par 3150.00
34	Description:- DSR-E and M 7-4 Laying of one number additional PVC insulated and PVC sheathed XLPE Power cable of 1.1 kv grade of following size direct in ground in the same trench in one tichorizontal formation including excavation, refilling the trench etc as required, but excluding sar cushioning and protective covering. DSR-E and M 7-4-1 Upto 35 sq. mm
	34B 50.00 Metre 143.00 7150.00 AT Par 7150.00
34	Description:- DSR-E and M 7-4 Laying of one number additional PVC insulated and PVC sheathed XLPE Power cable of 1.1 kv grade of following size direct in ground in the same trench in one till horizontal formation including excavation, refilling the trench etc as required, but excluding sar cushioning and protective covering. DSR-E and M 7-4-2 Above 35 sq. mm and upto 95 sq. mm
	34C 25.00 Metre 213.00 5325.00 AT Par 5325.00
34	Description:- DSR-E and M 7-4 Laying of one number additional PVC insulated and PVC sheathed XLPE Power cable of 1.1 kv grade of following size direct in ground in the same trench in one tichorizontal formation including excavation, refilling the trench etc as required, but excluding sar cushioning and protective covering. DSR-E and M 7-4-4 Above 185 sq. mm and upto 400 sq. mm
	35A 15.00 Metre 28.00 420.00 AT Par 420.00
35	Description:- DSR-E and M 7-6 Laying of one number PVC insulated and PVC sheathed / XLPE power cable of 1.1 KV grade of following size in the existing masonry open duct as required. DSR-E and M 6-1 Upto 35 sq. mm
	35B 25.00 Metre 45.00 1125.00 AT Par 1125.00
35	Description:- DSR-E and M 7-6 Laying of one number PVC insulated and PVC sheathed / XLPE power cable of 1.1 KV grade of following size in the existing masonry open duct as required. DSR-E and M 6-2 Above 35 sq. mm and upto 95 sq. mm
	35C 25.00 Metre 63.00 1575.00 AT Par 1575.00
35	Description:- DSR-E and M 7-6 Laying of one number PVC insulated and PVC sheathed / XLPE power cable of 1.1 KV grade of following size in the existing masonry open duct as required. DSR-E and M 6-3 Above 95 sq. mm and upto 185 sq. mm

Page 13 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 **Closing Date/Time:** 19/06/2025 15:00

_	35D	35.00		115.00				
35							PVC sheathed / as required. DSR	
		ve 185 sq. mr						
	36	25.00	Metre	55.00	1375.00	AT Par	1375.00	
36							sulated and PVC	
				le of following nm thick saddl		rface as r	equired. DSR-E a	ind M 7-7-1
	37A	20.00	Metre	45.00	900.00	AT Par	900.00	
37					nm (clamped wit			
	37B	25.00	Metre	92.00				
37		tion:- DSR-E					clamped with 25	x 3 mm MS
	37C	25.00	Metre	185.00	4625.00	AT Par	4625.00	
37	Descrip MS flat	otion:- DSR-E					m (clamped with	40 x 3 mm
	38	20.00	Each	508.00	10160.00	AT Par	10160.00	
38							er with 10 cm X	
	cm long	and fixing th	e same in gr	ound as requir	ed.		5 mm X 6 mm ar	igle iron, 60
39	39A	15.00	Each	413.00		AT Par	6195.00	
				2 3½ X 50 sq.			·	
39	39B	5.00	Each	875.00		AT Par	4375.00	
	-			7 3½ X 185 sq				
39	39C	15.00		1027.00		AT Par	15405.00	
				9 3½ X 240 sq	•		I	
39	39D	15.00	Each	269.00	4035.00	AT Par	4035.00	
	-	,		2 4 X 10 sq. m				
39	39E	5.00	Each	309.00		AT Par	1545.00	
	_			3 4 X 16 sq. m		AT D- ::	1575.00	
39	39F	5.00	Each	315.00			1575.00	
	40A	100.00		127.00	sq. mm (28mm 12700.00		12700.00	
40					(OD-63 mm and			
	40B	100.00		248.00				
40					a (0D-120 mm a			
	40C	15.00	Each	180.28	2704.20	AT Par		
40		otion:- (A) Tul					V, IP-20, convent	ional 1 to 2
	40D	50.00	Each	326.23	16311.50	AT Par	16311.50	
40	Descrip feet Cat	otion:- (A) Tu					- 2KV,IP-20, con	ventional 4
<i>1</i> 1	41A	15.00	Each	450.00	6750.00	AT Par	6750.00	
41	Descrip	otion:- DSR E	andM -1-50-	1 Upto 450 mm	n sweep			
41	41B	125.00		343.90	42987.50	AT Par	42987.50	
T1	Descrip	otion:- Up to	120 sq. mm.					
42	42	50.00	Metre	63.00	3150.00	AT Par	3150.00	
12	Descrip	otion:- DSR- E	andM 8.4.1	Up to 120 sq. i				
43	43	1.00	Lumpsum	500000.00				
	Descrip	otion:- DSR E	andM 2022 A	Any other DSR	item related to e	electrical i	nstallation.	
S.No.	Item Code	Item Qty	Qty Unit	Unit Rate	Basic Value	Escl.(%)	Amount	Bidding Unit
Sched		Schedule-E No	n Schedul Ite	ems for Electric	cal Works		1963915.25	Above/ Below/Par
	1	10.00	Day	142.51	1425.10	AT Par	1425.10	
	—					1	<u>l</u>	

Page 14 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	metallic/ modules	Wooden box,	single mour necessary o	nting base fran	me covered with	textured	ories mounted v / metallic/white f by Engineer In c	ront plate ,
	2	35.00	Each	107.31	3755.85	AT Par	3755.85	
2	bars up t complete	to 50mm lenge erected con-	gth each sid cealed in Ce	le and pierced iling with nece	through a 16 G essary finishing.	auge M.S	und bar bounded . box / Heavy Du	
							9992.94 elay suitable to	
3	rating as in existir with inte MCCB ra	following along M.S.housing connection ting as follow	ong with shug Providing suitable to ving along w	int trip 220V A g and erecting following size vith shunt trip	AC. with all interr g Approved make of moulded cas	nal connect E Earth fa e circuit l all interna	r having CT ratio ctions and compl ult Relay suitable preaker having C I connections an	ete erected e to mount T ratio and
3	3B	1.00	Each	5430.01	5430.01	AT Par	5430.01	
	Descript 3c	1.00	250 A -400 Each	0 A , CT Ratio 1 6073.88		AT Par	6073.88	
3		tion:- NS3 (4		A , CT Ratio 1	/800		0070.00	
	4	10.00	Each	875.67	8756.70	AT Par	8756.70	
4	(A)Extend		g rotary har	ndle with pad	lock with three p		for panel mount ip,off,on suitable	
	4A	1.00	Each	1313.50	1313.50	AT Par	1313.50	
4				operating rota nounting cat-II	•	ad lock w	ith three position	n trip,off,on
5	breaking type of system(E metering	capacity with relay and ac B) with micro display in m	n ICU=ICS=I cessories. (oprocessor l nodular desi	CW (1 sec)Vsr (2) Electrically Release with gn with LED d	=690 v, Ui=1kv Draw out type over load, shor	impulse v (EDO) w t circuit,	cuit breaker. Hav roltage=12 kv wit rith following typ earth fault prot n facility, CTs an	th following pe of relay ection and
•	6	2.00	Each	2120.49	4240.98	AT Par	4240.98	
6			_		ssories For Air Ci			
6	6A	2.00	Each	9598.03		AT Par	19196.06	
			· .	ush Button Kit		47.5	2172 00	
6	6B Descript	1.00 t ion:- (E) Loc	Each king of ACB	2172.00 in Any Position		AT Par	2172.00	
6	6C Descript	1.00 t ion:- (F) Rac	Each	4017.78	4017.78	AT Par	4017.78	
6	6D	1.00	Each	2172.00	2172.00	AT Par	2172.00	
	Descript	tion:- (G) Doo	1		2222	A	2225 I	
7	operated engineer CRC M.S including requiteb bakelite bolts-bas gasket, he complete switchge dimensio approved	indoor type incharge mand incharge mand incharge mand incharge incharge of intercontrol fuses, see Plates, sureavy duty enders, bus bars in shall be indicated.	cubical pane de from 14 ternal partit ding, drillin truction of e connecting /MCB for me fficient nos. d terminal shall be pa si, inter conn neasured ex ers with follo	el board neces SWG thick CR cions with nec g, welding, river engineer-in-cha PVC copper we easuring instru- of hinged de connection, dar inted with eponecting mains excluding base owing size. (A)	sary IP-42 and a C M.S. sheet for essary accesorie veting with inter arge with erectio vire / copper-aluments, earth but oors, handles winger notice board oxy powder coat and Copper Aluments) The parallocally fabricated	bove protouter bookers, supported and partition of supported and earnith lockind, necessating. (The minium stanel shall dipanel bookers.)	n proof, floor mo tection as per apply and doors, 16 porting angles/ flations and cable at lied switch gears trips, rubber groot th bolts, foundating arrangement arrangement arrangement sexcludes rips, meters, Fusiber supplied with sard (i) with 350 responses and the sample of the supplied with sard (i) with 350 responses are supplied with sard (ii) with 350 responses are supplied with sard (ii) with 350 responses are supplied with sard (iii) with 350 responses are supplied with sard (iii) with 350 responses are supplied with sard (iii) with 350 responses are supplied with sard (iiii) with 350 responses are supplied with sard (iiii) with 350 responses are supplied with sard (iiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiiii	proval from SWG thick ats channel alley as per , BUSBARS, mmets, rib, ion flange - and rubber rthing strip the cost of es etc. The h following
7	7A	6.00	Sqm	27214.45		AT Par		
) locally fabi	·	ooard (iv) with 10			
	8	2.00	Sqm	14929.31	29858.62	AT Par	29858.62	

Page 15 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

8	operated approval 16 SWG channel per requestion foundation arranger ventilation excludes meters, supplied (ii) With	d outdoor typ I from engine thick CRC M.S including cut- uITEMents and S, suitable s ts, rib, bake on flange - ment and rub on,earthing si s the cost of Fuses etc. T with followin	e double do er incharge 5.sheet for in ting, bendin nd instructi- ize of inter lite control bolts-base bber gasket, trip complet switchgear the dimension g approved	or cubical pan made from 14 nternal partition g, drilling, weld on of engined connecting fuses/MCB for Plates, suffice heavy duty ere. The Panel son s, bus bars, in on shall be manufacturere	el board necessal SWG thick CRC ns with necessal ding, riveting with er-in-charge with PVC copper wire measuring institution of the terminal connecting leasured excludity with following services with following services.	ary IP-54 a M.S. sheety accesor h internal n erection e / copportuments, ninged do ection, dar with epoxy mains an ng base size. (A) lo	n proof, floor mo and above protect et for outer body ies, supporting a partitions and ca n of supplied sw er-aluminium str earth bus and coors, handles w oors, handles w noger notice board of powder coating d Copper Alumin beams) The pan ocally fabricated p	and doors, angles/ flats ble alley as ritch gears, ips, rubber earth bolts, rith locking d, necessary. (The rates nium strips, el shall be
9	incorpor cutting,	ating proper welding, grind ction of eng	size of M.S. ding and fini	angles,square shing duly pair	e,round, flats, banted with one co	structure ars, chanr at of red o	3863.00 as per requITEM nels, sections cor exide with erectiong, plastering ar	nplete with n on site as
10	Aluminiu sq.mm (sequenc main cal	ım Busbars v (Rated curreı e of following	vith four eq nt / cross s current cal each busba	ual Nos. of busection area) rrying capacity	triple pole and us having currenduly wrapped was, erected with n	neutral 4 nt density rith colour ecessary l	2077.56 40V/ 500V pane not more than r insulating tape ous bar supports necessary conn	0.8 Amp. / for phase /insulators,
10	10A	1.00	RM	1472.32	1472.32	AT Par	1472.32	
10	Descrip	tion:- NS 10	(C) Suitable	for 300 Amp.	Capacity			
10	10B	1.00	RM	3069.13		AT Par	3069.13	
				for 630 Amp.				
10	10C	2.00	RM	7979.75	15959.50	AT Par	15959.50	
				00 Amp.capac		AT Dor	20220 50	
Description:- NS11 Providing and erecting multifunctional meter suitable for application monitoring and showing measurement of following Voltage, Frequency, Apparent energy, power, Active and reactive energy, Active and reactive power, Average voltage Vavg, Pea power PM, QM, SM, Demand power P, Q, S, Apparent power S, S1, S2, S3, Unbalance curre factor and displacement PF (signed, four quadrant), Calculated neutral current, Active apparent energy (signed, four quadrant), Active power P, P1, P2, P3, Voltage U21, U32, U1 V3, Phase currents, Average current lag, Peak demand currents, Reactive power Q, Q1 Demand current I1, I2, I3, [Us] rated supply voltage 40300 V AC 4565 Hz, 40300 V DG frequency 50 Hz, Type of network 3P, Display type 7 segments LED, Display colour Red, display capacity 3 fields of 4 characters, Display digits 12 digit(s) - 14.2 mm in height				r, Apparent ak demand rent, Power e, reactive, 13, V1, V2, 1, Q2, Q3, DC, Network				
12		VA burden er					1648.32 bar primary 50/5 iting materials co	
13				42.92 and erecting a necessary co			429.20 nel indicator LED	type lamp,
14	14 Descrip Aluminiu	125.00 otion:- NS 14 om conductor	Metre 4 Providing for 1.1 KV. t	280.72 and erecting to be laid on w	35090.00 XLPE(IS:7098)(I)-88 ISI a y clamps (35090.00 armoured cable or in existing tren	
15	Aluminiu following	m conductor size of cable	for 1.1 KV. t es (H) 3 1/2 d	to be laid on water core 185 Sq. m	all with necessar m (95 Sq. mm 1	-88 ISI a y clamps (./2 core)	rmoured cable or in existing trer	
16	Aluminiu	ım conductor	for 1.1 KV. t	o be laid on w	XLPE(IS:7098)(I all with necessar)-88 ISI a y clamps (87309.00 armoured cable or in existing tren	
	17	75.00	Metre	ore 240 Sq. mr 137.36	n(120 Sq. mm 1 10302.00	AT Par	10302.00	
ĺ	<u> </u>						======	

Page 16 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

17	Solid Alu	ıminium cond	uctor for 1.1		l on wall with ne		moured cable multist amps or in existing tr	
	18	75.00	Metre	150.02	11251.50	AT Par	11251.50	
18	Aluminiu		for 1.1 KV. t	o be laid on w			rmoured cable multi or in existing trench / p	
	19	25.00	Metre	188.01	4700.25	AT Par	4700.25	
19	Aluminiu		for 1.1 KV. t	o be laid on w			rmoured cable multi or in existing trench / p	
	20	100.00	Each	652.46	65246.00	AT Par	65246.00	
20	Descrip Watt ass conform resistan Power F lumens/ (NOTE: incharge Surface/	embled on sing to IS: 513 ce with diffus actor more towatt , LED do Below descript may select !	ngle MCPCB, CRCA/alum er housed in han 0.9, TH river efficier ption have any wattage unt Downligh	with housing inium pressuring aluminium of the local state of the loca	ED indoor fittings used as a heat sed ie cast powder asted body with ent, CCT 3000 keent (fitting recomments of Wattage can ween the ranges	with LEDs ink shall be cr coated a company to 6500 juired LM- apacity of shown.)	s of wattage 0.2 Watt be made of thick sheet and high U.V. and cor mark/name 160V to K, Luminaire efficacy: 79 and LM-80 Certifi LED fittings.The Eng (A) Square/ Circular s ting clips complete.IP2	Steel rosion 270V, > 100 cates) gineer haped
21	Watt ass conform with diff CCT 300 (fitting Wattage	embled on sing to IS: 513, user with com to K to 6500k required LM-capacity of Lhown.) (A) Tu	ngle MCPCB, /CRCA/ alum npany mark/ (, Luminaire 79 and LM- ED fittings.T	with housing inium die cast name 160V to efficacy> 100 80 Certificate he Engineer ir	D indoor fittings used as a heat s powder coated a 270V, Power Fac lumens/watt ,LE es)(NOTE: Belowncharge may sele	ink shall b and high U ctor more ED LED dri description ect any wa	2704.20 s of wattage 0.2 Watt e made of thick sheet .V. and corrosion resis than 0.9, THD < 15pe ver efficiency > 85 po n have shown rang ttage capacity betwee V, IP-20, conventional	Steel tance rcent, ercent of the officer of the off
	21A	50.00	Each	326.23	16311.50	AT Par	16311.50	
21	convent	onal 4 feet Ca					Watts, Surge - 2KV,	IP-20,
	22	15.00	Each	686.80		AT Par	10302.00	
22	W light v	vith flexible co	opper wire c	ord with plug t	op. Cat.III		uitable nos equivalent	of 11
23	voltage, mountin diffuser	minimum 15 g suitable for suitable LAMP	000 burning E14 / E27 / holder (ii) 5	hours life, 5 B22 lamp ho to 8 watts Ca	d lamps with follo 00 V in built-sur lders, pf >= 0.5 t.III	ge protec (A) LED L	3112.00 tage capacity of 220 t tion,Polycarbonate di amps integral type, w	ffuser,
24	Watt ass conform resistan 270V,Po lumens/ (NOTE: incharge	embled on sir ing to IS: 513 ce with diffu wer Factor mo watt , LED di Below descri e may select a	ngle MCPCB, CCRCA/alumuser housed ore than 0.9 river efficier ption have any wattage	with housing inium pressure in aluminium, THD < 15 per second shown ranges capacity between the second shown ranges are second shown as the second shown ranges are seco	ED indoor fittings used as a heat sed in cast powder casted body ercent, CCT 3000 cent (fitting recond of Wattage casted battage casted battage casted battage casted battage casted by the casted battage	ink shall ber coated a with con K to 6500 juired LM-shown.) (24038.00 s of wattage 0.2 Watte made of thick sheet and high U.V. and company mark/name 16 DK, Luminaire efficacy 79 and LM-80 Certification LED fittings.The Engly Adjustable spot lightli	Steel rosion 0V to > 100 cates) gineer
	Descrip rated, ce cm long	50.00 tion:- NS 25 eiling fan with	Each Supply, Inst Brush Less nos. canopi	2320.50 fallation, Testin Direct Current les, shackle ki	116025.00 ng and Commissi (BLDC) Motor, c t, safety rope, c	AT Par oning of 1 lass of ins opper win	116025.00 200 mm sweep, BEE ulation: B, 3 nos. blad ding, Power Factor no	es, 30
25	(tolerand speed c rise=75), Service Val ce as per IS ontrol and al degree C (m	: 374-2019) I remaining ax.), insulat	, THD less that accessories in	an 10percent, rencluding safety more than 2 m	mote or e pin, nut b	electronic regulator us olts, washers, tempe suitable for 230 V, !	nit for rature
25	(tolerand speed c rise=75), Service Val ce as per IS ontrol and al degree C (m nase AC Supp	: 374-2019) I remaining ax.), insulat	, THD less that accessories in ion resistance etc. complete	an 10percent, re ncluding safety more than 2 m as required.	mote or e pin, nut b ega ohm,	electronic regulator u olts, washers, tempe suitable for 230 V, !	nit for rature
25	(tolerand speed c rise=75 single pl	o, Service Value as per IS control and al degree C (masse AC Supposses 15.00	: 374-2019) I remaining ax.), insulat ly, earthing Each	, THD less that accessories in ion resistance etc. complete 1708.41	an 10percent, re ncluding safety more than 2 m as required. 25626.15	mote or e pin, nut b ega ohm, AT Par	electronic regulator u olts, washers, tempe	nit fo ratur 50 Hz

Page 17 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ_EN_TMD_MREN_2025 Closing Date/Time: 19/06/2025 15:00

	27 15.00 Each 450.00 6750.00 AT Par 6750.00
27	Description:- NS 27 Installation of exhaust fan in the existing opening, including making good the damage, connection, testing, commissioning etc. as required. Upto 450 mm sweep
	28 10.00 Per Unit 51000.00 510000.00 AT Par 510000.00
28	Description:- NS 28 Supply Installation, Testing and Commissioning of Split Air Conditioner, Wall Mount Type 1.5 Ton 5 Star
	29 2.00 Each 46788.25 93576.50 AT Par 93576.50
29	Description:- NS 29 Providing and erecting water cooler having storage capacity 150 Ltr. and cooling capacity 150 Ltr.per hour at the rate of an ambient temp of 45 degree C. The outlet temp. of the water should drop by 15 degree C within a hour, The water cooler should be comprising of hermetically sealed compressor, fan motor, condensing unit, water tank surrounded by evaporating, coil, thermostats, relay etc. complete with necessary inlet and outlet connection. The body of water cooler will be made from Stainless Steel.
	30 2.00 Each 65246.00 130492.00 AT Par 130492.00
30	Description:- NS 30 Supplying and erecting reverse osmosis (RO) water purification system with M.S. powder coated pedestal frame, prefilter housing carbon filter suitable buster DC pump, auto low and high pressure switches with following size of LPH capacity and erected as directed [D] 100 LPH with 1 phase / 3 phase Raw water pump of 500LPH at the rate of 2.5kg/cm2 - (1NO - Kirloskar /CRI/Lubi), Dual media filter 10"x54" - (1 NO), Micron cartridge filter 20" x 2.5" (1NO), High pressure pump 500LPH at the rate of 10kg/cm2 - (1NO - Shimge /CRI /Lubi), RO Membrane housing with RO membrane of 40*40 - (1NO), RO pressure tube 4" x 1E - (1NO), 0 - 1200LPH Rotameter - (2 Nos), with Recovery Rate 50percent.
	31 10.00 Each 7048.28 70482.80 AT Par 70482.80
31	Description:- NS 31 Supplying and erecting horizontal / vertical mounting type storage water heater with copper container housed in M.S./S.S./ABS body insulated with glass wool/puff complete with heating elements, adjustable thermostats 300C to 850C, indicating lamp, safety valve, fusible plug, etc.complete erected with coach bolts, nuts. washers and cementation (A) 10 Ltr. with 3 KW. heating element Premium Category
	32 125.00 Metre 498.75 62343.75 AT Par 62343.75
32	Description:- NS 32 Laying of One number PVC insulated and PVC sheathed / XLPE power cable of 11 KV grade of following size direct in ground including excavation , sand cushioning, protective covering and refilling the trench etc as required. Up to 120 sq. mm.
	33 2.00 Each 14219.60 28439.20 AT Par 28439.20
33	Description:- NS 33 Supplying and making indoor cable end termination with heat shrinkable jointing kit complete with all accessories including lugs suitable for following size of 3 core, XLPE aluminium conductor cable of 11 grade as required: 120 sq. mm.
	34 2.00 Each 1727.10 3454.20 AT Par 3454.20
34	Description:- NS 34 Supplying and erecting Right angle / straight boot made from Synthetic rubber and suitable for covering of cable up to 400 sq mm and should be installed directly on DIN Bushing on HT VCB or Transformer without bending of boot.
	35 2.00 Each 9443.50 18887.00 AT Par 18887.00
35	Description:- NS 35 SITC of Vertical Air Termination Solid aluminium with Base- 10 mm dia and 1000 mm long. Air Termination Base tested for conditioning, Ageing Test and Lightning impulse current withstand test: 100 kA of 10/350µs waveform in an accredited Third party laboratory as per 6.3 and 6.4 of IEC 62561-1 2017 protocol with MAST 34mm dia 3000 mm long- Cold Galvanized
	36 60.00 Metre 300.47 18028.20 AT Par 18028.20
36	Description:- NS 36 SITC of 8 mm dia solid Aluminium Conductor for roof top mesh grid and tested as per IEC 62561- 2 conducted in the Govt. accredited thirty party laboratory to meet the requITEMent of IS/IEC 62305 with Required Accessories - Aluminium Holding clamp at every 1 mtr distance, Aluminium/SS cross splicer at every crossing of Alu. conductor, Expansion piece with connectors at every 20 mtr distance, Aluminium straight Splicer to connect conductors. All Accessories should be tested as per IEC 62561-1 2018 Cl. 6.3 for conditioning and Ageing Test and 6.4 for Lightning impulse current withstand test: 100 kA of 10/350µs waveform(Ageing and Electrical test) conducted in a
	sequence manner and tested in the Govt. accredited Third party laboratory to meet the requITEMents of IS/IEC 6230
	37 60.00 Metre 154.53 9271.80 AT Par 9271.80 Description:- NS 37 SITC of Galvanized Steel Flat 25x6 mm thickness from earth electrode directly in
37	ground as required. Zinc coating: 500 g/m square (Approx:70 micron coating) tested and used exclusively for lightning protection earthing system and ring equipotential bonding.
	38 2.00 Each 6009.50 12019.00 AT Par 12019.00
38	Description:- NS 38 SITC of 14.2 mm dia 3 mtr long Earth electrode of High tensile steel electrode with 250 micron copper bonding and 1 bag of Carbon fill Based environment friendly backfill tested as per IEC 62561-7 in NABL accredited Laboratory and suitable stainless Steel double sided clamp. Eco Friendly rust proof heavy duty weather proof Polyethylene Earth Pit Chamber with following dimensions: 254 mm dia (top), 330 mm dia (bottom) and 260 mm (height).

Page 18 of 19 Run Date/Time: 24/05/2025 16:13:52

Tender No: PRYJ EN TMD MREN 2025 Closing Date/Time: 19/06/2025 15:00

3. ITEM BREAKUP

No item break up added

4. ELIGIBILITY CONDITIONS

Important All documents uploaded and remarks / confirmation entered by the bidders against any
 eligibility condition shall be opened as part of technical bid only

Special Financial Criteria

	S.No.		Confirmation Required		Documents Uploading
,	1	As per Bid Document.	No	Nο	Allowed (Mandatory)

Special Technical Criteria

S.No.		Confirmation Required		Documents Uploading
1	As per Bid Document.	No	Nο	Allowed (Mandatory)

5. COMPLIANCE

Important All documents uploaded and remarks / confirmation entered by the bidders against any
 compliance condition shall be opened as part of technical bid only.

Commercial-Compliance

S.N	·	Confirmation Required		Documents Uploading
1	Please enter the percentage of local content in the material being offered. Please enter 0 for fully imported items, and 100 for fully indigenous items. The definition and calculation of local content shall be in accordance with the Make in India policy as incorporated in the tender conditions.	No	Vac	Allowed (Optional)

6. Documents attached with tender

S.No.	Document Name	Document Description
1	TenderDocumentMCSiding.pdf	Technical Bid
2	New Manauri TMD Siding Signed.pdf	Drawing
3	NIT1.pdf	NIT Doc

This tender complies with Public Procurement Policy (Make in India) Order 2017, dated 15/06/2017, issued by Department of Industrial Promotion and Policy, Ministry of Commerce, circulated vide Railway Board letter no. 2015/RS(G)/779/5 dated 03/08/2017 and 27/12/2017 and amendments/ revisions thereof.

As a Tender Inviting Authority, the undersigned has ensured that the issue of this tender does not violate provisions of GFR regarding procurement through GeM.

Signed By: ARVIND KUMAR PANDEY

Designation: DYPM/Engg./PRYJ/W

Page 19 of 19 Run Date/Time: 24/05/2025 16:13:52